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Given below are two statements |

Statement 1 : "

T'he Ulema were Muslim the ologians who provided and interpreted passages from Quran. The Sultan was
required to show respect, at least ostensibly, for Islamic institutions and pre-gminently to the ulemas. This
Involved the granting of endorsement to religious causes and offices to the ulemas, building of mosque etc.
Statement 11 :

The Ulema were concerned only about the religious aspect and had no voice in political matters.

In the light of the above statements. choose {he correct answer from the options given below:
(A) Both statements I and 11 are (rue.

(B) Both statements I and 11 are false

~t=3~ Statement I is true but Statement 11 is lalse.
(D) Statement I is false but Statement [l 1S true.
(E)  Question not attempted
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Given below are two statements: :
Statement I : _
Rowlatt Act came into being during the Non-Cooperation movement. This was designed to take action

against the Indians participating in the movements.
Statement 11 :

The Rowlatt bill allowed the judges to try political cases without juries and gave to provincial governments,

in addition to centre, the power of interment without trial. It was popularly described as "Na appeal, Na
dalil, Na Vakil." .

In the light of the above statements, choose the correct answer from the options given below:
(A) Both statements I and 1l are correct.

(B) Both statements I and II are false.
(C) Statement I is correct but Statement II is false.

> Statement I is false but Statement Il is true.
(E) Question not attempted
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The decline of the Maurya Empire started after Ashoka.
Reason R Ashoka followed the policy of Dhammavijay and (Iu,h,m(lul his army
In the light of the above statements, choose the most appropriate answer from the options given below :
(A) Both A and R are correct and R is the correct explanation of A
(B) Both A and R are correct and R is NOT correct explanation of A,
€7 A s correct but R is not correct.
(D) A is not correct but R is correct.
(E)  Question not attempted
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Which one of the following throws light on the Lakulisha Pashupat Sect?

1. Coin of Huvishka 2 Mathura inscription of Chandragupta I
3. Maltimadhav of Bhavabhuti 4. Ashtadhyayi of Panini

7 Kadambani of Vanbhatta
Choose the correct answer from the options given below

A) 1,3,4 B) 2,3,4 (O, 2, 5 B 1,2,4,5
(E) Question not attempted
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Which of the following is/are true about the Virupaksha-Pampadevi of Vijayanagara?
1. Matridevi Pampadevi had done penance to marry Virupaksha.

2 The Vijaynagara rulers claimed to rule on behalf of Pampadevi.

3. The patron deity of the Vijayanagara Kingdom was Virupaksha.
4

Normally, the name of Srivirupaksha was “mentioned in the Kannada script in the royal orders.
5. Virupaksha was a form of Vishnu.

}oose the correct answer from the options given below :
)
(E)

152,53 (B)a 2, 3,5 %1,3,4 (D) 2,3,4
Question not attempted
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7 Match List - I with List' - I1.
List - I (Characteristic)
A.  Description of Indian Trade and Society L.
B.  Visited India six times L.
> Came to India and never went back [11.
to Europe
D. Scientist of Mughal Emir IV.
Danishmand Khan
gl - I &1 941 - 11 & 919 e a?rFtrlq |
1 - 1 (fasrer)
A.  HITAE AU U THIST 61 994 L.
B. ®: 9 91 %l 911 Dl I1.
C. HITd 36T HH g9 9199 el T [11.
D. HTd A ST @ @l 5T+
Choose the correct answer from the options given below :
e fom o fadeat ® & wé I @l °gqq B
(A) A-l, B-II, C-1V, D-111
(C) A-1V, B-1, C-I1, D-111
(E) Question not attempted / 3TN T
1421 B
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Match List « 1 with List < 11,

List - |
A. Composition of Basant Vilas in Sanskrit
B. Translation of Bhagvatgita into Bangla
o Composition of lapathisambaranamnm
Upakhvanamu
D,

Creation of A luhurtamala
on Muhurta

T - 1R - 1S g e iy
T - 1
§ha ¥ wm%wa?rm

A

B.

£ mmaﬁm
o PR

, a treatise

(C) A-IV, B-1, C-I1, D-III
(E)  Question not attempted / 1= a g

1.

V.

1.

(B)

List - T
Raghunath

Udayraj of Gujarat
Maladhar Vasu

[ 1

Gangadhar

RIS |

Sl
W%G‘cﬂmﬁr
HTFIT%T{EI'EI\

Y 1
; 4
L L

A-IIL, B-1, C-IV, D-II

(D)  A-IL, B-1V, C-III, D-I

bl

o1
List ~ JI (Foreign Traveler)
Manucc:1

Bernier

Barbosa

A-TIB-1, C-1V, D-I1

(D) A-l !I.“B-IV, C-1, D-11
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Subsidiary alliance was a system devised by Lord Wellesley in 1708 All those who ontered into SU¢

alliance with the British had to acdept certain terms and conditions, :
hreats to thelr

l.  The British would be respéndible for protecting their ally from external and internal t
power, |

2. In the territory of the .-.Ill‘y 0 lhlll‘sh armed contingent would he stationed and ally would pr“‘”de
resources for their nmmlc,n.mu %

3. Theally would enter into ut:rcgcmcnl*-»', with other rulers or engage in warfare only with the permission

of the British, Vo
4. Ally may walk away with the alliance anytime at the disagreement.
Choose the correct answer from the options given below:
(A) | only (B) | and 2 only

1, 2 and 3 only , M 2,3 and 4 only
(E)  Question not attempted "
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(A) FHad | (B) hee | HIX2
(C) aa 1,2 303 (D) e 2, 3 3T 4
(E) STgaid " ( 7]
Match List I with List 11. ﬁﬁia
LISTI i . LIST II
A. Setting up Supreme Court“ at’ ‘Calcutta [, -’
by East India Company ba
B. Cornwalis code enacted® [I. 1774
C. Railway line between Bombay and Thaneyy/ II1. 1881
D. Madras Harbour [V. 1853
Choose the correct answer from the options given below :
(A) A-LB-ILCHL DIV .. (B) A-II, B-II, C-1V, D-I
e A-ll, B-I, C-1V, D-11I il (D) A-Il, B-I, C-lll, D-1V

(E) Question not attempted :441"'-“:-*- |

qﬁlﬁﬁllaﬁgﬁﬁﬁﬁ%ﬁl f*
gl 1 | 31 - g
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B. epHaag dfear erfaard I™ 1774

o aaéﬁaru‘raﬁ?raia%rm‘ﬂ [1. 1881

D. U &EY IV. 1853

ﬁﬁ’lﬂqﬁaﬁq‘r@mﬁwwwaﬁﬁq:
(A) AL B-L C-IL DAV

g (B) A-Ill, B-II, C-1V, D-1

(C) A-ll, B-1, C-1V, D-1II (D) A-Il, B-1, C-lll, D-1V
(E) ordid 9ed W |
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Statement 1 ;

In 1866 Dadabhai Navroji organized the Fast India Association in London to discuss Ind
influence British Public opinion. Branches of the Association were organized in major Indian cities.
Statement 1 ;

He showed that the poverty and economic backwardsness of India were not inherent in local conditions but
were caused by colonial rule which was draining India of its wealth and capital.

[n the light of the above statement, choose the most appropriate answer from the options given below :

an questions to

9 Both Statements I and 11 are True.

(B) Both Statements | and 11 are False.

(C)  Statement [ is correct but Statement 11 is False.
(D) Statement [ 1s incorrect but Statement 11 is True.
(E) Question not attempted

HFYF 1:

1866 ¥ Trarrs AN A et ¥ d $fvan aege o e g R atea fifzer s # AT 37
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(C) =9I F& ¢ Wid BT 11 TTed & | (D) % 1 Teid & wiee da 11 |el 5

(E) F9Rd 91

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : |
In a message to the Indian Labour Journal in November 1933, Jawahar Lal Nehru emphasized that both

social and national struggles were basic and that in neither should a compromise be made.

Reason R : ;
He urged the working class to play its role in the anti-imperialist struggle.

In the light of the above statements, choose the most appropriate answer: from the options given beloy :
(A) Both A and R are correct and R is the correct explanation of A.

«B7 Both A and R are correct but R is NOT the correct explanation of A.

(C) A iscorrect but R 1s not correct.
(D) - A is not correct but R is correct.
(E) Question not attempted

A 3 99 feu U ¥ : fAH A %Ue o R & B

FUTA :
w1933ﬁg%mﬁaraﬁaa%%wa%mﬁmwﬁw%wﬁﬁﬁwmaﬁgﬁmﬁm
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12 Which of the tollowing is not an example of Rocks with Phaneritic texture?

(A) Granite (ll:/ljmvn'ilt~
(C) Ryolite (1 Giabbro
(E) Question not attempted

AriiRag & & a9 a1 e wARfes g rae &1 sam v Ay @ ¢

(A) WU9TEE (B) sz
(C) Raere (D)
(E) S1aid usH

13  Consider the following statements :
1. Tiber river delta is not an example of cuspate delta.

Y. Tiber river enters into Tyrrhenian sea.

—

3 The Tiber river flows through the city of Rome.
Choose the correct answer from the options given below :

(A) 1and3 only (B) 1only

Mand 3 only (D) 1and2only

(E) Question not attempted
Rrefefag @aeT uT foam &Y ¢
1. oTeeT e S0 HE 3w &l IETE L el 5
> rEET T arEtTEE |r H frdl §
3. gE & | e § eIl
Aafifad B T e & ¥ T8 I G|
(A) had 1 313 (B) ad |
(C) e 2 ¥ 3 . (D) %aw 1 &2

14  Consider the following statements :
1. The Achaean rock system is the oldest rock system of India.

2. The most common Achacan rock is gneiss.
3. The Dharwar system belongs to the later part of Achaean system.

Chosse the correct answer from the options given below
(A) 1and?2only (B) 1and3 only

(C) All of the above M only

(E) Question not attempted

Prafeiad wa=l 9T faamr &1

) ol T Pt & & Y T
(A) e 1 3T 2 (B) e 1 3T 3
(C) TUTrad Gl (D) Fad |
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L 1S the correct sequence of the given geographic feature from South to North?

SOouth-Sandw ich Trench - R

uerto Rico Trench « Japan Trench - Kuril Trench
South=Sandwich

' trench - Japan Trench - Puerto Rico Trench - Kuril Trench
(C)  Puerto Rico Trench S ‘ lah T 0T Trencl
“ib=south Sandwich Trench = Kuril Trench - Japan Trench

lj) SOu \ | OB T _ - Fonp o
( uth Sandwich Trencl - Puerto Rico Trench - Kuril Trench - Japan Trench

(E)  Question not attempted

ﬁumwﬁ’ﬁ%mm@wmmamﬁmmmw%?
(A)  Wrow Hefe 39 - et o) Y1 — omqrer g - e &
(B) mﬂﬂ*@f&ﬂiﬂ~wtm§‘a et Rt 2w - wgfe g
(©) 2 Rt 3 - qroy dufirg 3y H ¢ - A Fg
(D) uoy Jsfig dq - Q2 Pt ¥ - wfiw Yo - s Y
(E) H9Ra wss

Given below are two statements:
Statement I :

The‘ Arthrashastra is a treatise on government and economics ascribed to Kautilya, the chief advisor of
Chandragupta Maurya. |

Statement 11 : 1
By the third century B.C. the economy of North India was predominantly agrarian. Land revenue had

become the accepted source of income for the government. Kautilya refers at length to methods of tax
collection and related problems. Modifications in land tax appeared to be the direct concern of the king..

In the light of the above statements choose the correct answer from the options given below:
Both statements [ and 11 are true. ‘

(B) Both statements I and II are false.
(C) Statement I is correct but Statement II is false.

(D) Statement I is false but Statement Il is correct. . . | | £
(E) Question not attempted

A B HUA 5T T B

F911:
AL TIHR 9 e Mavse ¥, et 99 g 2d & J& GarEd biieed bl ol & |
%94 11 :

2., IEdl 9Tl § ST WA Gl STefeawdt H EWET B STYd o7 | B B ST &l /i E—mﬁ
TIBTT R 71T | BIfed - X HUE Sl TEferd! A1 U Heifrd Tt 1 Weve St & | ST & el T4

4

% BT I T&Ia foadT T | , .
U HIAT % UHIST H A fed faehedi # ¥ T2 I 6T T BIMT -
(A) @l &Y 1 Td 1 EE B

(B) 2l & I o 11 T & |

(C) &Y | |el & foorg B 11 Tt & |

(D) ®& 1 7Tad & fobg e 11 |el T

(E)  Srgaiid ysH




17  Arrange the following Coalfields of India from South to North direction,
1. Singareni coalfield 2o Ihlimili coalfield
3. Gaindih coaltield 4. Neyveli coalfield
Choose the correct answer from the options given below:

A) 1,4,2.3 (B) 4,2,1,3
4-. ].:.3 /Q,) -'-1., '1 ‘1 "rl
(E)  Question not attempted

wrE @) FrfiReg sradieey @ aflior & SR Bl ot arafloe Y

1. R saar &y 2. hfafrely @yaen e
3. e e a9 4, A Brgen e
I Ro o e ¥ § g€ gt ghw
(A) 1,4,2,3 (B) 4,2,1,3
(C) 4,1,2,3 (L) 2 1.3, 4

18 Match List 1 with List 11.

LIST 1 LIST 11
(Thermal Power plants in India) (States)
A_.  NTPC Ramagundam Super [.  Maharashtra
Thermal Power Plant €11
B. Mundra Thermal Power Station [I. West Bengal
C. Mejia Thermal Power Station I1l. Telangana
D. Trombay Thermal Power Planty [V. Gujarat
(A) AL B-IV, C-I, D-II (B) A-III, B-IV, C-l, D-I
(C) A'IV& B-1. C-11, D-111 (D) A-l, B-H[, C-[V, D-11
(E) . Question not attempted
= 1% g 11 § e e .
T 1 T 11
CUGE R LG R ICIASIES) _ (T7)
A, TEENE TETIE X gHE e Wi . eI
B. & 9€d UrE ®RIH 1. 9f¥ed
C. afvrar oo qray ®eH [II. ST

D. = g9d gra Wie [V. eI
(A) A-IL, B-1V, C-1, D-III A-IL, B-1V, C-II, D-I
(C) A-IV, B-1, C-1I, D-III (B RASEB=HI, C-1V=Dill

(E) did 997

19  Match the following : |
I, Pacific & Philippine Plate Tonga Trench

a,

2,  American & Pacific Plate b, Mariana Trench
of
d,

3. Indo-Australian & Pacific Plate Aleutian Trench

4, Pacific Plate & Okhotsk Plate t Kuril-=Kamachatka Trench
|-a, 2=b, 3-¢, 4-d | ) 1-b, 2-¢, 3-d, 4-a

|-b, 2-¢, 3-a, 4-d D) 1-c, 2-d, 3-a, 4-b

Question not attempted

0 0 o ®

-a, 2-b, 3-c, 4-d (B) 1-b, 2-c, 3-d, 4-a
1-b, 2-¢, 3-a, 4-d (D) -, 2-d, 3-a, 4-b

9 P.T.O.
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Liven below are two st

alements
Satement |

+ Kanishka built o Stupa and Vihara at Peshawar idols of Buddha and K apjs}

In the excavat lons of Stupas and Viharas of Peshawa; g .
found and not of Indra and Brahma. - - .
In the light of the above Statements, choose the correct answer from R £y on below
Both Statements | and I are true.

(B)  Both Statements Land 11
(C)  Statement I is trye but St

(D) Statement I is false

Statement 11

are false.
atement 1l 1s false.

but Statement 11 is true.
(E)  Question not attempted

21 Given below are two statements -
Statement |

: Kanchi was the famous city of South India, center of education and capital of Pallavas,
Statement I1

: Kanchi's famous scholars - Mayuravarma, Vatsyayan, Dingnag and HienTsan g-were there.
In the light of the above statements, choose the correct answer from the options given below

%—Both Statements I and II are true.

(B) Both Statements I and II are false.

(C) Statement I is true but Statement I1 is false.
(D) Statement I is false but Statement II is true.
(E)  Question not attempted

'vﬂ%a‘rﬁmﬁqwﬁz
99 I: il feqoT a1 9iHg 7, T3TET 1 %% T qoeral @y TrSTEEY o)

M 19

FAI miﬁrﬁmﬁm—mﬁ,mw,ﬁ?m@%ﬁmal
mﬂwmﬁ%mﬁ%ﬁqwﬁw&wwmam%q:
(A) @ %Y 10 11 6 & |

(B) 2l %Y ITd Il 378 & |

(C) @YU 19 ¢ dfehd wu+ 11 379 & |

(D) %Y I 38 & Wb %o 11§ & |

(E)  oTgaid ueT
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22 Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason K.
Assertion A

The 'Doctrine of Lapse' formulated by Governor-General Dalhousie disregarded the right of an adopted heir

to the throne and the state automatically lapsed into British dominion if the ruler died without any biological
natural heir.

Reason R :

The Doctrine of Lapse was one part of Dalhousie's programme of bringing a unified India under strict
control by doing away with alternative sovereignties held by Indian rulers and princes.

In the light of the above statements, choose the most appropriate answer from the options given below:
(A) Both A and R are correct and R is the correct explanation of A.

(B) Both A and R are correct and R is NOT correct explanation of A.

(C) A 1s correct but R is not correct.

B~ A 1s not correct but R is correct.
(E) Question not attempted

TR HE I ga R RIT AS I H IR TT FOTRFB T H & |
ATHEHYA A

TSI STEST A ‘Ud % fagid’ bl el o SAUTIDIL b STUDIT DI STAeET &1L Fqaiiad 6ar | T§eeT
STIEST &1 3799 3T UG EITT AT 9T bl bl YT ieh STUTHhI b {471 Jg Bl B |

ST R :

AT STE! T TSTHHT GIRT Aohieddh LTHeh! bl il bl (g B Id Y, FT =0T & STl 9o 1 &
Tehihd HIXA I A T STEST AMSTAT Dl Teh AT T |

SYYET B! b B H, Ay &g el § T8 ITL BN AT DI g

(A) ATY RN 90 € TI R, A &l T&I HTEAT & | -

(B) ATH RN 9 & UG R, A &I Tl ATl & 8 |

(C) AT T fobg R I 3 -

(D) A 7ad e feg REd 7

(E) ofgaid 9ed

23 Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Daswant painter had committed suicide out of madness.

Reason R : - The manuscript of Daswant's work Khandan-e-Taimuria is preserved in Khuda bakhsh
| oriented Public Library, Patna. '

In the light of the above statements, choose the most appropriate answer from the options given below :
(A) Both A and R are correct and R is the correct explanation of A.

’)-)/' Both A and R are correct and R is NOT correct explanation of A.
(C) A is correct but R is not correct.

(D) A is not correct but R is correct.
(E) Question not attempted -

e & %Y foU T € : Teh hl ATHFUA A 3 gEL & wror R F &y § fafad fwan ¥

AT A @ TEIT BT U b T TS T [T | -

FOIR - ; ;ﬂﬁﬁaﬁﬁw—q—%ﬁ%maﬁ%ﬁ@%ﬂeﬁﬁ@?wﬁaﬁﬁ@ﬁwﬁmﬁ
|

BYUF HUHI % ST X e &y U e & wad sugam ooy & °9ad &1 |

(A) AT REA G ¢ 3T R, A & 9&) = & |

(B) ASITREA 84 ¥ 3T R, A %) §e! =qredr 78 ¢ |

(C) ATHE Wlp R 3@ B '

(D) A T8 & Wi R T & |

(E)  &1Faftd 99+




24 German Economist Johann Hesi

SE with reference to assumptions of Von Thunen’s Location

'heory? T o
. The isolated s |
Y . t L( S ¢ 5 G "NMQEyO ; . ‘
2. i hiinterlan : 11|L ~omprises of one market area and an agricultural hinterland.
e here AN SNIPS 1ts surpluses to no other market except the city.

are multiple modes of transport,

4 tThere is a hon -
' S« 1000Ne ~ T Y " . J "3 : i 7 , .
42  The hinterland (ifj'il':lu‘l“: l"ll_?mml chvironment, including a uniform plain around the city.
J -’ % L . ‘{l )I C( ,)\ f‘;ll-l]]crs Wl e i i ) oy | S . )
Choose the correct Answer fi y I 10 cannot adjust automatically to the market’s demands.

4 om the options given below:
[, 3 and § only @™ 3
2 and 4 only and 5 only
| . g 2 3 and 5 onl
Question not attempted ' : {

U I | ararawor 2rar & FTEH 9T o =Y 31T UehamT 2aT oY 9mie 3|
STAD ST T T T ¥ i e @) wiit 3 @ onet omg A 4 fran 9 |

(A) Had 1,3 TS ' | (B)  heel 3 3T S
(C) &aw 234 a (D) ohaw 2, 3 3T S

ﬁ
[T]
~’
.
A
NN NSNS

25  Match List I with List II and select the correct option from the given codes.

LIST 1 | | LIST II
A. Five Indian Institutes of Technology I.- Fifth Five Year Plan
(II'Ts) were started as major technical |
institutions
B. KVIC (Khadi Village Industries I[I. Third Five Year Plan
Commission) was set up
C. Gadgil Yojna | III. Second Five Year plan
D. The Minimum Needs Programme |
(MNP) was launched IV. First Five-Year Plan
(A) A-I, B-III, C-II, D-1V 87 A-1V, B-1II, C-II, D-I

(C) AL B-II, C-1. D-IV B (D) AT BV ACH: DIl
(E)  Question not attempted | . |

L ) o
A. UTE HITAg St e (Ts) v [ 9rEl Yaau e
AT el & &9 A 6 U U .
B. KVIC (@l forasr ge&iat HHIgH) bl [I. e daadi g
C. TS grstr [ GE et aretm
D. = fafma Asg 9 (MNP) @l
e Bl T [V. W&l Yeaig g
(A) A-l, B-III, C-II, D-IV (B) A-IV, B-III, C-II. D-I
(C) A-II, B-II, C-I, D-IV (D) A-II, B-IV, C-I, D-III

(E) &aid 997

12 P.T.O.




26  Given below are two statements :
Statement | : Aurangzeb had constructed the Kuwait-ul-Islam moscue by demolishing the Chintamani
Temple.
Statement L1 : Qutbuddin Aibak got the Kuwait-ul-Islam mosque built in Delhi.
In the hight of the above statements, choose the correct answer from the options given below
w Both Statements 1 and 11 are true.
(B) Both Statements I and I1 are false.

‘/Statcmem I 1s true but Statement 11 1s false.

(D) Statement 1 1s false but Statement Il 1s true.
(E) Question not attempted

4 Q) Hu kg T E -

s I SICTS T [AEIRT HIR 1 ASHT HId-Id-3ed dftra a1 frafor scamar 411
FA I : PGIEH U I el ¥ HAT—IT—F&A™ ARt 1 iy s o)

SUTET HYAl B ST W A [T T fehedi | qel I B g9+ BT

(A) I HAF 1 UE I 9 & |

(B) M &uw Iud I 3718 ¥ |

(C) U9 19 ¢ Afhd B 11 378 & |

(D) %Y I 36T & Aih HUT I T T

(E) 3l ued

: 27  Given below are two statements : X
StatementI  : The temples of VirupakSha and Pampadevi were built by choosing a beautiful place like
Vijaynagara. |
Statement I : The Vijayanagara rulers adopted the earlier traditions, innovated them and developed
them further.

In the light of the above statements, choose the correct answer from the options given below :

% Both Statements I and II are true.
f(B) Both Statements I and II are false.

(C) Statement I is true but Statement II 1s false.
(D) Statement I is false but Statement IT is true.

(E) Question not attempted
e g1 % fu T ¥
FA ] FOSET SE GEEI W Bl g [eane Ud TRl &b HieT SR T
C FR Il TISTETIR % SITE N QEI TS HY STaraT, I T @i Si 5 o famia fhany
BUUGd HYAT o SATeld A g [§T T fqewedl § WEl I b1 T4 Doy -
(A) B ®YT [Ud I 9 & |
(B) @i ®aw 1 7d I 16 &
(C) HUT 19 T Wich HUA 11 376 & |
(D) YA I 39 & Wihd Hwae Il §cd 2|

(E) Sraiyd 9ed

13 1.0,



28  Given pclow are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A |
The Europeans denounced the Indian civilization and culture. They described it as backward, uncivilized
and orthodox.
Reason R

' A OOV | l]\ Y S £ : ' s e _ ’ 4
In the early 19™ century these was been interest in studying the classical language and literature of India. A

numhet: of scl30|ars took to Indology and one of them was Maxmuller.
In the light of the above statements choose the correct answer from the options given below:
(A8 Both A and R are correct and R is the correct explanation of A.
e Bqth A and R are correct and R is not the correct explanation of A.
(&) Ais correct but R is not correct.
(D)  Aisnot correct but R is correct.
&)  Question not attempted

. ﬁﬁamﬁﬁtzuwmmA%smﬁeﬁTmWRéﬁmﬁl
:ﬁﬁnwa_A: . |
wﬁwm@mwwmnwwm,mmwamﬁﬁml

@I T 3R I U@ HeTER an)
SUGH B & THI H, e R fyebedt F w39 1 gE BT
| (A) AUTIRTHI G € UG R, A % &I =reT 2|

(B) ATUHRIAI 6 € TR R, A &1 TEl =qrean e &1

(C) A¥T % fHgR 7w |

(D) A 7wq & fbg R 9 ¥

(E) &g 9ed

29  Given below are two stateménts:' one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : oy |
Indian National Congress was started by A.O Hume under the official direction, guidance and advice of

Lord Dufferin, the viceroy.

Reason R : |
The Indian National Congress was to provide a mild, safe, peaceful and constitutional outlet or safety value

for rising discontent among the masses. N |
In the light of the above statements, choose the correct answer from the options given below:

(A) Both A and R are true and R is the correct explanation of A. -
(B) Both A and R are true but R is NOT the-correct explanation of A.

(C) A iscorrect but R 1s not correct.
Dy A is not correct but R 1s correct.
(E) Question not attempted

#9 2 Fua RA ¥ uw et aT A% @Y § ST o= HRUT R % ¥4 H ¥
i G T THIRA %) GaTe Ud Ariasfe ¥, sraer Frédel & ot T.el. T % a1 R UG B @)
AT B3| | |
FITR : ' ' ' |
mmmﬁmmﬁwmaﬁmm gftra, snifeqel ua ddenfre sifreafe an gefid 1
' ygT &l o | - .
< guad FAl % g ®, e il fadmedt ¥ qE T A gAra @l
 (A) ATUE R @ ¥ Ud R, A %I HE @ ¥ |
(B) AT R & g ¥ 9] R, A @ Hel rean 6 ¥
(C) Aqw foreg R el #
=(D)AﬂmatﬁﬁgRH@1H

JI. 1]
. i .
e’ -
¥ L "F;r -
Y VP T
- , % o & oy <y o 4
a ™ : rll :. JI_-' -‘_ '
o =% £ I !
- i} - i L -
"'r'- w T.---* . | |I| y
L "'Inl_ll =
| - H "r—_ r ), , .

lr.l"j |': ! | !

_Irl i l-_lI ': t " o lh . i
| R e L | 4 gail
. b Pyt e TN S . :

!'I,] - T |"..-.' y i
.l lr‘l 1 \ 1' gl r e
: ) I_' i I:“. ""l. .-‘ il ra ..:. ] I "
B A & "
| " T - ™ [} e PR | IJ I
DA TN F ) e R 4 iy 11
II- : | = i .|.. ' Il- Y . . %
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31

Statement 1 :
The walls of the Buddhist care Shrines were coverage with murals illustrating Buddhist narratives.
Statement 11 : |

A more distant region wh

Baniyan in Afghanistan,
into the hills and covered with murals.

In the light of the above statements, choose the correct answer from the options given below:
( Both statements | and 1l are t!'llc.
Both statements I and 11 are falsc.
(C) Statement I 1s correct but Statement I s false.
) Statement [ is false but Statement Il 1s correct.
B)  Question not attempted |

and Traversing Central Asia were serious of Buddhist monastries with shrines cut

¥yq 1 :
@@ﬁwﬁaﬁaﬁé@wﬁqﬁ?wﬁaﬁﬂﬁlﬁ%mum%a@mmmmmfao—iri
&Fyq 11 :

m?%ﬁweﬁ”%wmﬁmmwmqw@mmlmﬁaﬁmﬁww
13 3 qeT TR A B BT URIE W &) veiisdt ¥ e ud fufat % are odn g @ 9ol & A1

Sudad HUA b Y1y , Y G fashedl § ¥ Hel 3T g
(A) i we T I @er €1

(B) =i %y [ud Il Tad 8 |

(C) U198 ¥ foeg Her 11 7Terd |

(D) @& 1 7ed & foheg %o 11 6T T

(E) S=aid 987

Given below are two statements :

Statement 1 : |
‘Dhamma' is the Prakrit form of the Sanskrit word 'Dharma’, meaning according to the context, the universal

law or righteousness or, by Social Extension and Religious order as found in Hindu society.
Statement 11 :

" The term 'Dhamma'’ was propogated by Ashoka for Buddhism when he adopted the same and started

propogating It. i)
In the light of the above statements, choose the correct answer from the options given below:
(A) Both statements I and Il are true.

) Both statements I and II are false.
Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement 11 1s correct.
(E) Question not attempted

ﬁﬂﬁﬂ?ﬁ'&‘ﬁf%:
®YA 1 :

'qry’ H&hd IR e} %7 e ©Y 3, Rorad e § v A gU, Wi A 91 S T a1 A

R e enfifen s fevg TS A AT ST € |

oy 11 :
@19l &1 dg 8H & fag ‘e oTeZ T YT 6T T T 5 S8 3¢ @1 {haT ST FEehT TaTL HIAT TILH

e | g1 & foheg e 11 7Tl @ |
& | TAd & febeg HYA 11 €E1 &
- PEE| ; |

15 P.T.O.




32 Given below are two statements

Statement [
Ganesh Shankar Vidyarthi had written in ‘Pratap’ that *“If Maharana Pratap had been in any other country

ef\;CE‘lp't slave l“d}ﬂ- you would have been worshipped all over the country. If you were in America like
h bon lmgt}m Of l:lncon, It you were in England like Wellington or Nelson, if you were in France you would
¢ worshipped like Joan of Arc or If you were in Italy you would be worshipped like Mazzini.”

Statement 11
Ganesh Shankar Vidyarti used to bring out a magazine named ‘Pratap’ from Rajasthan in 1915.

1 the light of the above statements. choose the most appropriate answer from the options given below :
Both Statements I and I1 are correct.
Both Statements I and 11 are incorrect.

(
%2 Statement 1 }'s f:orrect and but Statement II is incorrect.
) Statement I 1s incorrect but Statement I1 is correct.

(E) Question not attempted
TR ey Ruu R

YA 1 _

TUIST ST faEmet  ‘wara’ | foram o fos “Wwﬁmwmﬁmmwﬁmﬁﬁ
aﬁ@%ﬂﬁ‘eﬂmqjﬂﬁeﬁlvﬁmaﬁﬁiﬂﬁﬂﬁ?ﬁaﬁéﬁmm%maﬁm,ﬂﬁm?ﬁ"gﬁﬁm
%%mm%ﬁsﬁﬁm,Uﬁmmﬁ@%?ﬁaﬁaﬁmmaﬁmmuﬁmﬁﬁ%ﬁﬁﬁﬁﬁm

SICIRE IR |

EXER ..
1915 & o797 9in Toremell TS § ‘9ary’ A% qiiehT fHaed |

SUE HUAT B A § A R T Ry ¥ aa Suge SO Bl 4T DI
(A) TFieTFICE I §IEl (B) @Y e I Ud I 376 ¢ |
(C) g7 19 & AR By 11 318 8| (D) EISWIGTHEI%@TEEWIIW%I

(E) &rgaid 9e - -

33 Given below are two statements :

Statementl  :
In spite of opposition from Jinnah in 1937-39, the Con

Legislative Councils.

Statement I1 | _ .
Sir Syed Ahmed Khan had said that ‘First he fought for Congress, now he will fight against the unity of

India.’ . :
In the light of the above statements, choose the most appropriate answer from the options given below

¢Ay Both Statements I and 11 are correct.

Both Statements I and II are incorrect. B
Statement I is correct but Statement I1 is incorrect,

statement I is incorrect but Statement II is correct.
Question not attempted .
g1y Ay M ¥

YA 1 1 .
1037.39 & forer a5 ferdrey ¥ areop i ¥ Rrer oRwe A ‘e AT’ A M TH Wre

- II : .. - Tie
v ﬁwmfﬁ‘mwmﬁmﬂi&,mwmﬁm%maﬁr

g &g oETe al
mmﬁtmﬁ'ﬁ&ﬁHmﬁwﬁﬂmmwmmm:
(A) g 1 T ¥ | (B) 2 o 1 Ta 11 oreeg &
(C) w1 9 & aftpw e 11 87 ¥ | (D) @YU I 3TEA & AR o 11§ B

(B)

oress did not stop singing ‘Vande Mataram’ in the

C)
#)

16
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RY: | Match List = T with List = 11 .

List - 1 (Articles) List - I (Provisions)

a. 243 (K) ! state Finance Commission

D. 243 (1) Il State Election ( OMmMISSIOnN

¢. 2437.(D) L Committee for District Planning

d 243Z(b) V. Committee For Metropolitan Planning
Choose the correct answer from the options given below
(A) a-l, b1, =111 d-1V (B)  a-1V, b-111, ¢c-11. d-I
(C) a-lll, b-1l, ¢-1, d-1V - a-ll b1, c-111, d-1v

(E)  Question not attempted

T - 1% G - 1 B @i
- 1 (g T - 1 (wraer)

a. 243 (&) . g fae amrar

b. 243 (IR) Il T g

c. 243%s () 1. e gremr afufy

d. 243 (3) _ V. #grdfre e % forg aff
Y Rw Tu el ¥ ¥ T8 IAT HT TIT DI
(A) a-l, b-IL, c-lII, d-1V (B) a-IV, b-IIl, c-II, d-I
(C) a-IIl, b-II, c-I, d-1IV (D) a-Il, b-1, c-III, d-TV

(E) 3faitd 994

35  Match List - I with List - 11 :

~ List -1 - List - II
a. Sanskritization | .~ L. Rajni Kothari
b. Secularization of caste [I. Granville Austin ,
c. Social Revolution - IIl. D.L.Seth |
d. Politicization of Caste | - IV. M.N. Srinivas !

Choose the correct answer from the options given bglow :
(A) a-l, b-1l, c-III, d-1V | -1V, b-111, c-II, d-I
(C) a-Ill, b-II, c-I, d-IV - (D) a-Il, b-1, c-III, d-1V
(E) Question not attempted '
gl - 131 g - 11§ 5 PITAT :

gl - I CgA-1I

HERIADH T | [ T BT

a.

b. SId T GHTI&TH T 1. Wi s

c. GHIS Hifd [I. 3. TH. 93

d. R 1 TTAeIh LT V. TH. T, e
A o o fremedl ® @ WE AL H AT DI
(A) a-l, b-I, c-III, d-IV (B) a-IV, b-III, c-I1, d-I
(C) a-lIL, b-11, -1, d-IV (D) a-I1, b-I, c-11L, d-1V

17 P.T.O.




f their availability (in terms of percentage by

36 An:'angc‘thc following elements in the decreasing order 0
weight) in the Farth's crust,
. Silicon 7 lron
S Q)\‘\'gcn 4 . S()(lium ‘
- § FrevRa ol @ S Sy & ST T errd g (o 3 aferaral % &9 ) arafterd 1T
. s 2, HEa
| 3. e 4, aEaH
Choose the correct answer from the opti | '
o » options given below:
2 Ru v e § § 98 39 g .
(A) 2>1>3>4 < 3>1>2>4

(C) 1>4>3>2
(E) Question not attempted / 3T W9

37 Match List I with List 11.

LIST A LIST II
(Landforms) (Occurrence)

A. Cirqueqy [. The landforms found associated with
floodplains, along the banks of large
rivers '

B. Lapies [. The mostcommon of landforms 1n
glaciated mountains

[1I. ‘The landforms with a relative}y'ﬂat
rock surface formed by the jomning c':)f
several pediments, generally found 1n

* arid and semi-arid areas
D. Pediplamn V. The landforms formed when most of
|  the limestone is taken away by the

pits and trenches

5 AL B-1IV, C-1, D-11l . (B)g , B-1,
(C) A-L B-IV, C-II, D-1II . (D) A-III, B-1V, C-IL, D-I

(E) Question not attempted

C. Natural levees

g 1% gE 1@ e BTy
gl | . ' g
(i-ﬂ'?ﬁ'ﬂ?) | 1 (erfedt 2IA1) .
A W [ S R 3 R, T % ATl § IS
g% Y-Sl
B. wd . . 1. fewresTi T B FEH qH
5 . Y-t
Y sl [[l. e SYEThd HIE T Dl §as b T
' G ST T STHAIR 9T P 87T
* Lo aef-grep & § U T A by YISHEH
1 I % TS § 9l o |
_ D.. IR | [V, ﬂgﬂl—waﬂaﬁ%w R remisT
AT TN TES! ST Tl &I BT <l
' (A) A-II. B-1V, C-1, D-11l | ( ST §
i . sl DNl L0 B) A-lV, B-], C- ’
1 (C) AL BV, C-II, D-III D) - AT et
] () orgeiid 9 8
B ' p.T.0.
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38  Given below are two statements:

Statement 1;

In 1960s, the Government of India limderlhc then ‘|'nm| and Agriculture Minister Chidambaram Subramaniam,

limnchcd the Green Revolution with the help of a geneticist, M.S. Swaminathan.

Statement 11

During Green revolution high—yiclding varieties (HY Vs) of dwarf rice seeds namely [Lerma Rojo-64-A and

Sonara 64 was introduced in India, which were imported from Japan.

In the llght of the above statements. choose the most appropriate answer from the nptifm% grven below:
Both Statements I and Il are correcl

) Both Statements I and Il are incorrect

Statement 1 is correct but Statement [l 1s Incorrect

Statement 1 is incorrect but Statement 11 1s correct

g Question not attempted

R QA HUF Ry g E:

YA 1t

1060 F T9F T WG GBI ¥ aehi Qe M HiY w3l fadaws gawmgy % arefm amgafseiiag 79.04.
T B et ¥ & HifT Bl JESTA Dl | .

Ty 11:

=1q it 3 S TaTh SIoT—&T &1 BIR—AMeST ITEENT (HY Vs) 314 Lerma Rojo-64-A #T Sonara 64 %1

Rd | gm%mﬂm 8 ST & ST {hdT 74T &)
Sqed HUA! @Y &9 W @A §T A 4T MU Gl § & g8 Sugad I BT 94 B

(A) Wlxﬁl’(llﬁ‘ﬁﬁa% , (B) &I+ 130T [ S+ Teq &
(C) wu I8 & At FHert 17T & (D) %Y+ 1 e & AT e 11 a8 3

(E) 3raid 997

39 Given below are two statements:

Statement I:
The National Food Security Mission (NFSM) of India was launched 1n October 2009,

Statement 11:
" The mission was launched with an objective to increase the annual production of rice by 10 million tonnes,

wheat by 8 million tonnes and pulses by 4 million tonnes by the end of the Eleventh Plan (2011-12).
In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both Statements I and II are correct

(B) Both Statements I and II are incorrect
Statement I is correct but Statement 11 is incorrect

(D) Statement I is incorrect but Statement II IS correct
(E) Question not attempted -

A 3t YA fag T 2
&9 I:
Wwv@ﬂ@mg{mﬁm (NFSM)amgaTzoof)fr Q& femam T Al

%44 11: .
'vmrs'c’i’ru‘mm(zon 12)%%%%%2@%%*& 10 fiyferast = o @Y, T & 8 Mfwas 29 d @l

A Tl F 4 Pafees 27 | @ ghg B b Seed | THIM @l g Tk T o |
Wwﬁﬁwﬁmg%mwﬁmﬁﬁmwwwwaﬂﬁm

(A) U 1 3T 11 T |er 8 (B) &9+ | 30X 11 31 Tad §
(C) YA | G& & @fee w11 77 @ (D) HUA | T & e HUA [ TEl

(B) orgaftd 9ed

1421 B
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40  Given below are some of the definitions of Human geography as defined by famous geographers. Identify

| the pair(s) which is/are rightly matched. #

' I Human geography is the synthetic study of the relationship between human societies and earth’s
surface — Friedrich Ratzel

2. Human geography is the study of changing relationship between the unresting man and the unstable
earth — Ellen Semple '

f - 3. Human geography offers a new conception of the inter relationships between earth and human
beings — Ellsworth Huntin gton

4. Human geography may be defined as the stud); of ihe nature and distribution of the relationships
between geographical environment and human activities and qualities — Paul Vidal de La Blache

Choose the correct answer from the options given below:
(A) 2and4only (B) 3 and 4 only

| and 2 only _Pr 1and4only
AT Question not attempted

WIS Yo & Ry e sy 2 g afvaand oi we it e & A A e T E
| SRl e 19 6 AR/SH Sre} @ yra ifiu | . '

-' | | ST I HE w37 ged @ was % dr gt w ghe oremad & - Hsftw T

| 2. WG W AN A7 377 e gedt % e seery delt a1 areadd & — Oer de

=L _ 3. TR Y YeA ofR wTa % i ofata @ T TE SraHRen W i & — geaad Ee

? 4. T s @ st ate of A TR e i % dre e B st o e
! ST &b B H YA foman S wehar & — uie feret <1 @

A T 7Y fashedl | @ 991 39 g '

(A) Haw 2 3T 4 : ' (B) o 3 AT 4
(C) e 13X 2 (D) %aw 134

41  Arrange the following five zones of the pelagic region of an ocean in the increasing order of its depth from

the surface. gt @RI - unn .
1. Mesopelagic : _ 2. Epipelagic
FI4EL . W Abyssop'e]agic - . 4. Bathypelagic

5. Hadopelagic . |

Choose the correct answer from the options given below: _
(A) . 514,32 Ly Dy AP 241:4: 3.5
ST Y e e . ()4, 129523
(E) Question not attempted |

4, 1YY

(B) . 2,1,4,3,5
(D) £4,1,2,5,3
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42 Match List I with [jst 1.

LIST | LIST I

(Pedogemc Py ‘0Ccess) s ¢

e (l)_escrlptmn) | |
odzolization 'L |, Itis associated with humid cold mid-latitude

climates and coniferous vegetation
It 1s associated with soils found in

fe i) | s , tropical and subtropical environments
o Calcmcauolw I&- It is associated wntii warm, semi-arid
environments, usually in g.rass!and vegetation
where evapotranspiration exceeds precipitation
It 1s associated with poorly drained and water
logged areas of cold climates and peat is

found in the upper portion of the soil
-1I, B-1, C-IILD-IV (B)  A-l, B-II, C-IV, D-III

,Bll C-—lllDlV (D) AlVBIllCIIDI

B. Laterization & r LL,

D. Gleization ~v | LV,

P

LD O T 1

(T W) (Ferarom)
A.  UiSSAASE [. % 3 N Heg—aEieT Saarg AT
TP I & FE1d 2 |
B. wWetgwsm 1. 9 SumiEd o sowstea water
| o 4 Ui S 9T el § gafad 2|
C.  feTftheher - L e T, ety Tatere § gt
| G aﬂﬂ-cﬁT PRSI aa Haret & St ars—
. IS STV 3es B & |
D. TEgSe ' [V. I8 32 Seraryg & @Ud el el S
ST Hd e & | GEread & S ure
b - ‘ 22t & Sl W § 9 S §
(A) A-Il, B-I, C-IIL,D-IV (B) SEIAB-II, C-IV, D-III
(C) A-L B-II. C-IIl. D-IV | (D) A-IV, B-III, C-II, D-I

(E) aTgaia 9ed

43  Which of the following statements with reference to natural resources is/are FALSE?

1. Biotic resources are the resources obtained from biosphere and have life such as human bein
flora and fauna, fisheries, livestock etc.

2. The resources which can be reproduced by physical, chemical or mechanical processes are known
| as non- renewable resources.

3. Theresources that occur over a very long geological time and take millions of years in their formation
~ are called renewable resources.

Choose the correct answer from the options given below:

| only (] 2 and 3 only (C)<' 1 and 3 only (D) 2 only
(E) Question not attempte

wfi‘*rcﬁwmﬂ’r H‘q’ﬁﬁﬁﬂﬁi@ﬁwﬁrﬁ@iﬁﬂw@rm%ﬁ?
meﬁmwm%wsﬂﬁﬁﬁwsﬁm%éﬁw qAEI 3T WG, TG,
EE i
2. %Jaaguﬂﬁl%%ﬂﬁm AT AT AT Tisharetl &RT g Wﬁwmm% TR-TATh oy
YUY+ % ®9 H S S 8 |
3. ﬁwﬁwﬁéwﬁﬁvwﬂaﬁ%mwwfim@aﬁmﬁ% T O HETEH HEdTd

4
ﬁﬁﬁqmﬁﬂﬁﬁwwgﬁq

(A) Lml b LE) %ircmzaﬂu Q) Hgd 133 (D) e

gS,
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44 Consider the fbllowing statemey | '
) 1S ogation of the Houyge
AR i 150N O he pror g LISe
L. 1l pendaing n the |eg|Q|nllllc of qtﬂfb qlm“ lilp% by reas h ! or

Houses thereof,
the legislative assemh
2. A Bill pending in the legislative council of a state which has been pasqed by g y

shall lapse on a dissolution o : * v th
3. A Bill which is hcndmg N II:c'll‘tg]l:qul':lzl:);qQCInhly of a state Of which ha‘;eahfﬁ;‘ggﬂi‘ti :}f :'
legislative assembly is pending in the legislative council shall not lapse O ot OT the
assembly
Which of the statements above is/are correct?
( | and 2 only (W) 2and 3 only

| and 3 only _ A7 2only

Question not attempted

Frffee sust w R a5t

1. %@rw%f&mwﬁaﬁaﬁmmwmaﬁ%w%mw’m
2. el Trow o forer ity  wiftrr Redves, vt frem @ = aife féar €, ferm g91 % 9927 77
QT &N

45  Consider the following statements :
1. A parents or guardian to provide Opportumtles for education to his child or, as the case may be.
ward between the age of six to fourteen years.
2. To provide early childhood care and education for all children until they complete the age of six
years.
3.4 70 protect and improve the natural environment mcludmg forests, lakes, rivers and wild life and to
have compassion for living creatures.
4. To safeguard public property and to abjure violence.
5. To provide primary healthcare to the persons below poverty line.
Which of the statements above is/are related to fundamental duties?

w 1,2 and 3 only [, 3 and 4 only

1,4 and 5 only J (&), 1,3 and 5 only
@»- Question not attempted .
YAl 9 feramt ¢

1. ATa-fyar a1 @16 B8 ¥ 95 99 d% il 1Y arel 379, Hmﬁuﬁrwmwﬁlﬂm%mﬁwm
3EA|T Y& B |

2, mﬁmaﬁmmmﬂaﬂaﬁwwwwwﬁsémaﬁ?ﬁa{lﬂgwﬂmﬁ.
 faren wam BT % forg T Y *

3 gt garaTor a1, fred siartd o, e, T o a=y o & Taﬂaﬁ X ITehT el ¢ o

. offer sforet & ify e e <

4, e et 71 e @ i e § g

“9 WW%MUT&W%WWMWWWﬁI
w1, 2 2 (®) w3 s
(C) t«n 4 ol 5 o (D) %aw 1,3 it

22 ' ' P.T.O.




46  Which of the following statements regarding Soil is/are FAISE? |

1. Fertile soil supports plant growth by providing pMmTs with nutrients, acting as a water holding body
and serving as the substrate to which plants anchor their roots.

2. Vegetation, tree cover and forest prevents soil degradation and desertification by stabilizing the
SO1l, mﬂinl'aining water and nutrient cycling.

3. Grass found on pasture lands cannot protect the soil against soil erosion and also inhibits the soil
biological activities.

Choose the correct answer from the options given below:

| and 3 only 2 and 3 only (Cr 2 only only
w Question not mtcm{%d L%( %
g1 & WY eiiRaq syl & @ @ otue B8 7 |
1. SUSTS 9T % teT Y qray oS el Y Wb o WA bl 9Tl & GUTE Ud AT % B H B Hb

el @ gie ¥ gerar s ¥
2. SN, J&, SNTESET i I YaT STHETT Ud Heerelieh (0 U %71 gar % ferdia(on & a1 51
TS QIVH! & GehoT ) §10 T@dT & |
3. Wmﬁﬁaﬁmﬁ@ﬁwmmﬁ?ﬁwm%m%ﬁmﬁ%ﬁfﬁﬁm
| .
S fXu T foeet o § 98 sa g
(A) Ha@ 133 (B) had 2 33 (C) had 2 (D) &ad 3

(E) I UeH

47 Consider the following statements under Article 18 of the Indian Constitution:
1. Any Citizen of India can take any title from any foreign state.
2. In Balaji Raghavan v/s Indian Federation, 1996, the Supreme Court has announced that 'Padma-
Vibhushan', 'Padma- Bhushan' and 'Padamshree’ is a title but these awards violate "right to equality”.
Which of the following statements given above 1s/are correct?
e, Neither 1 nor 2

(A) 1 only (B) 2 only (C) Both 1and?2
(E) Question not attempted - Yy .

ARG Giag™ § 3g®e 18 & deH | [Hidiad el 9 fe=m sifsia:
1. HId &I B3 A AW 9ol Tod ¥ SUMT Urd Y Fohdl ¢ |
2. ST THEH S 9 §9aTg (1996) R gared ey | 98 SJaufid f6ar ¥ 6 agm-—faywer,
GEH—HUT Te ‘UgH A’ JUIMHET € A & JL&BIT GHT @ SATHDBIT Bl Teeid- b id & |
ST HYl § B 9/ HYT el 8/8 7 |
(A) &ad | (B) had 2 (C) 132l (D) S all3TATE2

48  With reference to Directive Principles of State Policy consider the tfollowing statements :
1. The Directive Principles of State Policy of Indian Constitution have been clearly divided into
three parts, 1.e. Socialist, Gandhian and Liberal.
- 2. Directive principles of State Policy related to co-operative society (under Article 43) of Indian
Constitution 1s taken from Nehru's objective resolution ot 1946.

Which of the statements given above is/are incorrect?
1 only (B) 2only peRaR(C) - Both | and 2 (D) Neither 1 nor 2
(E) Question not attempted Saalah

T & it e fasidl & g & fret et ux feam sifse -
. WY E@fOU™ & iaia g & AId a9 [Hidl @l aF 9l o faved 6 @ 8, g -
gHTSTETET, MEETe) 3T IeTCara | -
2. WL EiaU™ & TS & A8 91 TAaEia S Seahrd | (3ress 43 & 3ad) § g &, &
E® % RIS WK 1946 ¥ forar mar & |
SUUad BUAT | B |I/H HYT GE B/ 7
(B) had 2 (C) 132 (D) A1 AT ATE2

23 P.T.0.




49

51

Given below are two state ments :

Statement | tThe Fundamental Rights are non- |u<;tluﬂh|e
Statement Il : The Directive Principles of State Policy (DPSF)

In the light of the above statements, choose the correct answer from
(A) Both Statements I and 11 are true.

in the courts.
are | macde
the options giver below :

justiciable In the courts.

A8 Both Statements 1 and 11 are false

(C)  Statement 1 is correct and Statement 11 is false.
(D) Statement I is incorrect and Statement 11 1s true.
(E)  Question not attempted

%ﬁﬁﬂ?ﬁqw%

D NS RIS STy W e w6 ¥
U & A P e Ryata sararea)  aradrd ¥
wﬂﬁm%mﬁ%mmﬁmﬁﬁmwmmﬁ | |
(A)  HUF I3 1 Y vy ¥ (B) e 1 frg AT saa &1
(C) U7 1E& ¥ ofR Huw 1 merq ¥ D) e 1 ¥ ol Fer Ha &

(E) SURd WA

Given below are two statements -
StatementI  : ‘The doctrine of basic structure’ has been propounded by the Supreme Court in the
Kesavananda Bharati case in 1973. el

Statement I : The Indian Parliament has the power to amend the whole COI‘ISjtltUtlon-

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statements I and II are true.

(B) Both Statements I and IT are false.

-+ Statement I is correct and Statement II is false.

(D) Statement I 1s incorrect and Statement I is true
(E) Question not attempted

T YT R T

Fuq I 1973ﬁassmﬁaqnﬁ’rwm€fﬂaaﬁﬁr=qmmm SPraTal oY % faEia’ @I FieaTed T 747 2|
FE Il : 9RAE 968 % UH QX GRE ¥ GoNed wed @t ot g
mmﬁmﬁﬁ%ﬁqwﬁmﬁﬁﬂﬁwmwﬁ

(A) %Y= 13T I SH 97 & (B) @+ I 37T I g 18 8|

(C) HYFITET T HYT e &1 (D) %o 17T & 3T He 11§ ¥

(E) ST He

Arrange the following movements chronologically (from earliest to latest)

a. Kheda Satyagraha b. Ahmedabad Satyagraha
¢. Rowlatt Act Satyagraha -~d. Champaran Satyagraha
Choose the correct answer from the options given below:

(A) acbd (B) cdab _Urdbac (D) .dasb
(E) Question not attempted

ﬁﬁmﬁmmﬁwﬁuﬁﬁ (arfeie & wew)

-a,. ﬁ'ﬂ qAie i _ b.  STEWIINIR HeTE
v&é‘: ﬁqmz ﬁwch g @ w1 I g
(B) cdab - (C) dbac (D) dachb
g - -
5%
.




5§52  Match List - T with List = 11 :

List - I (Schedule) List - IT (Provision/Subject)
1. Fiest | 4. The state and the union territory
2. Second &~ 0. Oath
3. Third & C. /\“()c‘fm-i(m ol seats in the Rajya Sabha
4. Fourth o d. Administration and Control of

Scl1e'(ll‘||c(| Areas and Scheduled Tribes
Fifth ¢ Provision as to the emoluments of the

President, Judges and Comptroller and
Auditor General of India

Choose the correct answer from the options given below

1-a, 2-b, 3-c, 4-d, 5-¢ . (B) 1-b, 2-¢, 3-d, 4-¢, 5-a
1-a, 2-€. 3-b, 4-c, 5-d * (D) l-'-C, 2-(], 3-a, 4-b, §-¢
Question not attempted

N

T - 191 g - 1§ e s
W LAY ot Sv0 i A - 11 (93t |/ forera)

H

i
grs
3.

|

:
3]
ﬁ

5. dEq e | & TSI, AR o frdse oft werEr whas

(&) 1a,2b,3%c,44q,5¢ A B 15, 20, 3.4, 4-¢, 5-a
B L (C) 1-a,2¢,3b;4c,5d . i BRI -c, 2-d, 3-a, 4-b, 5-¢

~ 53 Match List - T with List - II -
s List-1 /[
- b. RajniKothari

| s % \ : 11
:i]‘_;j: - E o o e

N List - II
« e "I The.idea ofiIndia |
. II. Democracy and Discontent
[II. India After Gandhi

i |  IV. State against Democracy
e sorrect answer from the options given below

PEab-IE el dIv - - -~ ~ (B) a-1V, bIIL, c-II, d-]
S R ’ﬁ;id i ' (D) a-l, b-1V, c-IIl, d-II

. ‘m I_
. ' %

~ Atul Kohli

g

"
i'". £l
it e

-1

g -10

. T s o sfsan
I SHIRE Us fegads
1. $i¥an smex e
V. ®Z 3rie SHhdl

(B) a-IV. b-11L c-II, d-I
(D) a-l, b-1V, ¢-1ll, d-11

=) R

P.T.O.




3  Consider the following statements -

- ency on grounds of extern.
L. According to the Article 356, Government could declare a state of emergency gr al

threat only.

rJ

' | ins practically suspende,
Once a emergency is proclaimed the federal distribution of powers rema P il |

‘ N —e e ent-
and all the powers are concentrated in the hands of the union governi

- ynd :
The 42 Amendment was also passed during the emergency.

4. Among the various chan ges made by 4214 Amendment, one was that t
In the country was extended from 5 to 7 years.
Which of the statements given

W) land4 only

(C) 2and 3 only

he duration of the legislature.

above is correct?

ST
39 ¥ § B9 § YT GEl £ 7
(A) e 134 (B) aw a2
(C) &ad 233 (D) haw 3

5SS  Arrange the following events performed by the Constituent Assembly in the éorrect sequence (earliest to

. Ambedkar's first speech in the Constituent Assembly.

2. Adopted national flag by Constituent Assembly
3. Approved Commonwealth membership of India .
4. Nehru's Objective Resolution

(A LD 3. 4 * (B) “]. 430

} gn12.3 | (D) 3,4,1and?2
(E)  Question not attempted ' -

e g1 21 fee U Hrat B wE w9 ¥ aaityd At (shte ¥ aw)
1, WHfaYg™ §91 § sres®t &1 Tgq iy

2. EIUT™ g1 ZT TSt bl STIATH]

3. UZHEH H HITA &l HI&dl 6l STHIEH

4, ¥EE % LT T .
w (B) 1,4,3,2

(D) 3,4,17Yr2

26 P.T.O.
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°~‘ Que tion nmz attempted / aﬁeﬁ'a g9

Match List T with List I1.
LIST 1

(Dams)

Nizam Sagar Dam
Somasila Dam
Nathpa Jhakri Dam
D Linganamakki Dam

N>

“(A)  A-IL, B-l, C-1V, D-II

(C) A-IV. B-1, C-II, D-1ll
(E)  Question not attempted

T 1 &1 gl 11 QB S|
T 1
(F1Y)
A. N9™m 9mR Y
B. QEISAT iy
C. TU9T AThS! e
D. 6 ¥R 919

LA A-IIL B-I, C-IV, D-II
(C)  A-IV, B-I, C-II, D-III

(E) S1gaiid Usd
Match List I with 'List' I1.
LIST 1

A.  Geographer who introduced the
concept of 'stop and go determinism’
B.  Geographer who opined that climate
profoundly influences man, his culture,
and geological processes
&, Geographer who wrote the book,
- “The New \ orld Problems In

Political c*r o 0 aphy |

A b2 Geograr M og ed that; ‘Nature
fpern:ilsswe |

ﬁﬁﬁﬁﬁq ke

1S not né mﬂ fﬁ v b

. ]’4"{:?& 1'1

J:,HL'\..

"*ﬁ '

27

LIST I
(Rivers)
L. Pennar river
Il Sharavathi river
L. Manjira river
V. Sutlej river
(B)  A-l, B-II. C-III, D-1V
(D) A-II, B-1V, C-I. D-111

?

g 11
()
[ 9= =y
[l IEay =18y
1. HST =&y
V. 9aqs «1a

(B)  A-I, B-II, C-III, D-IV
(D) A-I, BIVCI,DIII

. LIST 11
I.  Ellsworth Huntington

II.  Griffith Taylor

II. Jean Brunhe

IV. Isaiah Bowman

QI
. wegad &fereT

1.  Pifpy v

. S
V. 391 999

A  A-1V, B-1, C-l11, D-1I
(D) A-1V, B-1, C-Il, D-II




S8 Match List « I with List < 11

List = I (Articles)
1 (R
bh. 72
c. J4
d. . a3
e. ‘16

List = I1 (Provisions)
. Impeachment
[I. Pardoning Powers
[11. Election

V. Ordiance
V. Appointment of Attorney (eneral

‘Choose the correct answer from the oplmns given below :

(A) a-l, b-V, ¢l d-llI, e-1V
@ a1, b-ll, c-lI1 -1V, e-V

a-1V. b-111, ¢-Il, d-1, e-V
a-11. b-I1, c-I, d-1V, e-V

.4

(E) Question not attempted
-1 “? I« fi‘-‘lﬁFr BHIT
T - 1 ()
a. . =TT
b. 7?- [I.  &HE & DI Ml
c. 4 (1. g1
d. 123 [V. aTegmee
e. 16 V. WERIEEr! e Fgh
49 Ru o el ® § W8 ST 61 99 BT
(A) a-l, b-V, c-ll, d-III, e-IV (B) a-IV, b-III, c-I1, d-1, e-V
(C) al, be1L, c-IIL, d-IV, e-V (D) a-Il, b-IIL, c-I, d-IV, e-V
(E) 934 o
59  Match List I with List II.
LIST I LIST II
A. Albatros plateau [. North Atlantic Ocean
B. Telegraph plateau [I. North-West Pacific Ocean
C. Amsterdam-St Paul plateau [II. South-East Pacific Ocean
D. Kuril-Kamchatka Trench [V. Indian Ocean |
(A) A-2,B-4,C-1, D-3 (B) A-3, B-1, C-4, D-2
(C) A-1,B-2,C-3, D-4 (A -4, B-3, C-2, D-1
(E) Questlon not attem ted
garls g 19 fi‘ﬁﬁ
gl L | .
A. 3fETZE 9T 5 [. IO siEdifed HEMErTT
B. ZdTH UBK ' [, SO-9iday weTd HE™ETT
it O wéqﬁzmam [1I. Ror-ga wetid HeEr
 D. FOd-mqaeHl T V. T 7e@rm
Qf A-2, B-4, C-1, D-3 A3 Bl C4 D=2
A-1, B-2, C-3, D-4 A-4, B-3, C-2, D-1

(E) a:j?rﬂ'a PER

60

which is/are wrongly matched.
1. Jean Brunhes - France

3, David Harvey - Spain

Choose the correct answer from the options given below:

G WITH

Given below is a list of prominent Geograbhers and the countries to which they belong. Identify the pair(s)

Muhammad al-Idris1 - England
Grehard Schott - Germany

2,
4

(A) 14and4 only (B) 3 and4 only (C) I and3 only (D) 2and3 only
Questlon not attempted | |
aﬂ@ﬁ?ﬁ%sﬁﬁwﬁé’rﬂ%%ﬁﬁﬁﬁm%|mﬁ%ﬁmﬁwﬁﬁqﬁwﬂ%ﬁfﬁaﬁm

. Ghﬂwlm 2, ﬂ‘ﬁm‘wﬁaﬁﬁr SRS
% mxm gﬁﬂl 4, TETS WhIC - STHAT

" feu Ty T

A)  wad | 3T 4 (B) had 3 8T 4 (C) had | 30T 3 (D) e 2 3 3

 erid Fe |

28




61  With reference to the different types ol sotl found in India, identify the pairs which is/are wrongly matched
L. Submontane soil - These are formed by the deposition of eroded matertal and are found in the Taral
region stretching from Jammu and Kashmir to Assam.

Karewa soil = These are the lacustrine deposits found in the Kashmir valleys and Bhadarwah
Valley.

Peaty and Marshy soil = These are typical soils of the monsoon climate characterised by seasonal
rainfall and is deficient in organic matter.

4. Latenite so1l - These soils are rich in humus and Organic matter.
Choose the correct answer from the options given below:

/ﬂ' I and 2 only ?L 2 and 3 only
(1))

rJ

'y

&) 1,3 al}d 4 only 3 and 4 only
(E)  Question not attempted

IRA § U3 S Irell {4 WeblX bl 981 & &4 | 39 st & qeam #ifse e e wa =9 3 5

QTR 1
1. ;ﬁﬁ%ﬁ%w—&mwéﬁwﬁm%amweﬂ?mﬁ?%amwﬁm%Erﬂr'tn'é
|

2. &l YaT — Y HYHR Dl UMl 3T HEdTE 96y § U0 @ ool gty frag ¥

3. UIZ 37X SO GaT — A HIEH! I8 Dbt [T arel Sy serery @ faine gand ¥ o 37 st
;_ Tl I HH Bl & | '
4. TS gRT - ¥ YR EHY SR HED et § 99 e & |
A g faewe | | 98 ST g
5 (A) aw 132 (B) % 2 373
L (C) waw 1,334 g (D) % 3 A 4

(E) argaia 9

62 Which of the following statements with reference to the main cropping seasons in India is/are FALSE?
1. Theterms ‘kharif’ and ‘rabi” originate from Arabic language where Kharif means autumn and Rabi
means spring. =
2.  Kharif crops need cold weather for growth and need less water.
3. Rabi crops generally require more water and are called monsoon crops.
4.  Zaid is short cropping season during summer months and mostly seasonal fruits and vegetables are
grown in this season.
Choose the correct answer from the options glven below:

m land 2 only h ==t | and 4 only
) 3 and 4 only | (@\ 2 and 3 only .
(E) Question not attempted '

AT § HEe! % ged JeHi b wad § Frefafad e § § S a/ o 2R 7
. '@l o & amamﬁmmﬁwagq%waﬁmwaé%srwa@aﬁ'(ﬁaﬂaai%ama@
2.. G% B HEA! B G $ T 52 AE B X B G B Sraahdr Bl ¥
Tl %) HEe! bl SHAR TT ST I @Y STasdendl il & T TR WG W wel Sl ¢
4 Wﬂﬁﬁ%ﬂﬁ%wmwwwwm%mwmﬁwwweﬁ

(B) ohad | 3T 4
(D) e 2 8l 3

P.T.O.
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63  Match List - I with List ll

~ List-1 | ' List - I
a. Estimate Committee IJ° | 22 Members
b. Public Account Committee 1. 30 Members
¢.  Rule Committee of Lok Sabha 1. 31 Members

d. Department-related Parliamentary V. 15 Members

Standing Committee
Choose the correct answer from the options given below :

Question not attempted

{;ﬁ-lm@-ﬂﬂﬁlﬁﬁm :

& a-ll, b-l, c-1V, d-llI @) alV, bl eIl de
a-l1l, be1l, c-1, d-1V (D) a-ll, b-l, c-111, d-1V

-1

1"| -
[r

b i
» I

_*.{ &

- I
22 FIH
30 e
31 e

15 9q™

(B) a-IV, b-III, c-I1, d-T
(D) a-IL, b-l, c-IIL, d-IV

' List - II (Provisions)
Taxes not to be imposed save by authority

. of law
Consohdated fund of Indla

~ Contingency fund

a. ST | .
b. W W@ gifa 1.
c. WP 9l & MW wia I11.
d. T quth Sudy W affd V.
%ﬁqwﬁaﬁtﬁﬁaﬂwwwm
(A) a-l, b, c-1IV, d-11I
(C) a-ll, bl c-l, d-IV
(E) e usd
64 Match List - I with List - II -
o ~ List-1I (Artlcles)
WRHRAN, - 265 LB I
*ﬁ”mn?ﬁ R R
. 266 1
S aeey 267 f‘ BT

‘ Inter-state council

tions glven below :

w \

L s ! 1 .."'.
i ‘ L " T

(B) “a-1V, b-I11, c-]] d-1I
(D) a—H, b-I, C-]I[, d-1V |

- T ()
w%m&w%ﬁmmﬂﬁmm

a-IV, b-111, ¢-11, d-I
ﬂr:u, 'b-I, c-111, d-1V

P.T.O.




65 Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R -
Assertion A : Federalism in India is in recent years moving from cooperative to bargaining federal system
Reason R :  Residuary powers of legislation are lying with the centre.

In the light of the above statements, choose the most appropriate answer from the options given below -

M” Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A,
(C) A s correct but R is not correct.

(D) A 1snot correct but R is correct.

1 (E) Question not attempted

g 2 < T R o ¥ uw A ofE A % w9 A 3T qEL B FO R F w5 F @y

4 SERA ;T b sl § AR g gedrd gea § dRant % gaan £ 6 vae 3
= FT R s T @Y srafdte gl e H e B

SUE Bl & @D | A [T TC fabedi § § qattus Sugad Sl &1 999 B
(A) AR RIAI & ¢ AT R, A &l TEI AT HIAT & |

(B) A 3T RIMT 98l & @l R, A &I &I ITEAT 781 & |

(C) AT EAfIREETE Tl

(D) A 7ed & Wichd REET 1

(E) Taig w9

Given below are two statements:

StatementI  : The Indian Natlonal Congress rejected the ‘Cripps Proposal® because Congress was not
convinced with the dominion status offered by the British.

Statement II - : The Muslim League accepted the ‘Cripps Proposal’ because the indirectly demand of
: Pakistan was accepted by the proposal.

In the llght of the above statements, choose the correct answer from the options given below :
(A) Both Statements I and II are true.

- (B) Both Statements I and II are false.

l Statement I is correct and Statement II is false.”
| (D) Statement I is incorrect and Statement 11 is true.

(E)  Question not attempted ——
Wmm% o T bt sreienTt Y R rifen eniire S @ WA S @
7 b Rerfr & wigse e o) -

p i ol A fie e ﬂﬁmmﬁmmﬁ%mﬁmmﬁmﬁzﬁmﬁwﬁﬁw
W@ &Y feran T Ay

SRR mﬁ%mﬁﬁ%ﬁqmﬁwﬁr%aﬁwwwaﬁ
% ﬁﬁ I3 11 2w ¥ (B) YU I 30 I 31 ot €
B I"v'lirteﬁ'(wmuﬂmti (D) YT I Toq & olT wa 11 6 &

P.T.O.
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67  Consider the following pairs:

:“r Committee of the Constituent Assembly Chairperson

. Language Committee Jawaharlal Nehru
1 2. Union Power Commitiee Moturi Satyanarayana
‘ 3.  Minority Committee H. C. Mookharjee
3 4. Fundamental Rights Sub-committee J. B. Kriplani

.5; 5. Advisory Committee on Fundamental Rights Vallabhbhai Pate]
| How many pairs given above are correctly matched?

j Only | pair (B) Only two pairs
h (C) Only three pairs (D) All five pairs

{ (E) Question not attempted |

¢ _ Fr=ifoRad gol OX e @i

h ' Hiqs /1 ) A * A
2. |9 R | el AT HeT T

r 3. ECUHEID QT ' ' Tg. 9l. @il

| 4. Wi SRBR Su—afify . ). Huam
PR [ et e e— T T

f S 33 o g i ‘ ‘

(A) HI@1g™ L (B) wEwm2ygW

’ (C) 3T _ (D) &5

s (E) oTaia 9s

68  Consider the following statements regarding the Bill of rights :
1. The “Motilal Nehru Committee” presented a bill of rights in 1930.

2. A Bill o;l;' ' rights prohlblts government from thus acting against the rights of the individual and
ensure a remedy in case there is a violation of these rights.

3 Govemment cannot put reasonable restrlctlons on the exercise of our fundamental rights.
Whlch of the statements given above is/are incorrect ?

Only 1 and 2 Only 2 and 3
J Only1,2and3 ﬁ—&nlyland3
) Question not attempted

thémmmﬁrwﬁﬂnﬁm

§ L E930 7 ‘ﬁﬁrﬁm%maﬁwﬁquwmwmu

2 Wmmwﬂm%mﬁ%mwmﬁﬁm%mwm

P.T.O.
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69 Consider the following
i 10 reduce
All pregn

statements regarding the MusQan initiative:
preventable mortality and morbidity of children below |12 years of age.

| ant women and sick infants upto | year of age attending public health facilities are
entitled to free services. drugs and consumables as well as diagnostics services.

r

3. To provide child-friendly services to the new born and children in a humane & supportive
Cenvironment,

4,

It 1s an intensified ﬁ)rogramme to bring undiluted focus on promotion of breast feeding and other
infant & young child feeding practices.

Which of the options given above is/are correct?

| and 2 only B) 2and3 onl | and 3 onl | and 4 onl
& Question n(})t attem(te)d / @/ ’ M ’
ST T Q T P T A
. 1299 ¥ &5 39 & Fedl B gog T B Vb 3T TTH B1odr 6y H57 F7A7|
2. OEwiG e gfawet ® @ miecd afkenett ol um ad @@ % dmre Ryt & o o
HaTU, TG0 qUT SUHRT GURN, NETeh Sard I HI |
HIAIE 3R e Irarail § Sawrd {319] o7 aeaf &1 a1 gew §ard g B

S
4,  TH BB BT Sg9T RN T4l & WIS TG T & 994 § d9a7 FET0T U7 0 Hhad H7A7 47
AU &l g oM _

ST TaBed] § g I 97 {eheq 981 & ?
(A) Had 132 (B) %o 2 3T 3 (C) had 1 37T 3 (D) had 3 3T 4
£ (E) 3Tgaid Wed

2 f 70  Match the following:

(1) Sowa-Rigpa (a) Fusion of traditional knowledge of

ancient civilization like Egypt, Arabia,
India, Iran, China & Syria.

L]

(1) Siddha @ ~ (b) Health is a pre-requisite for achieving
g | the goals of life i.e. Dharma, Artha,
C | | Kama and Moksha.
- {(111) Unani | (c) System is evolved based on 96 tools or

principles(Thathuvas) which include physical,

physiologic, psychological and intellectual
aspects of every human being.

' (iv) AyurvedB | (d) ~ The basic theory is explained in terms of the
' ™ body & the mind as the locus of treatment:
anti dote; method of treatment through antidote;

. G medicines that cure the disease; pharmacology.
Choose the correct option from the following options :

(A)  (1)-(a), (i)-(b), (i11)-(c), (iv)-(d) (B) (1)-(b), (1)~(c), (ii1)-(d), (iv)~(a)
=7 ()-(c), (i))~(d), (iii)-(a), (iv)-(b) (D) ()-(d), (i1)-(e), (iii)-(a), (iv)-(b)

{ E) Question not attempted
- &1 e W :

» (i) m—m | - ' ' (a) ma H{E, HI{d, TUA, ﬁlﬁ aﬁ-( m ﬁ
R - WTET FWET & T T 1 |ivsren
AL (b) % e N {5 U, o, W ofT e

~(e)

1
N
I'
|
g

(d)

(B)  (i)-(b), (ii)-(e), (iii)-(d), (iv)-(a)
(D) (l)'(d)s (ll)—(C), (l“)'(a)s (W)"(b)

33 P.T.O.



71 Match List I with List 11 and choose the correct option :
List | List Il

a. Gujri mahal |.  Kurukshetra
b. Seikh Chilli’s tomb 2. Mahendragarh
¢. Choron ki Baoli 3.  Hisar
d. Jal Mahal ' 4. Rohtak
(A) a-1,b-2,¢3,d4 (B) a-2,b-3, c-4, d-1
(C) a-3,b-1,c4,d-2 | (D) a-4,b-1,c-2, d-3
(E)  Question not attempted
T 1 g 1§ B & qur 8 feed 1 aae #i
i ™l SRR
a. T e CALIE!

e TR R N S T S — S T

\

| Jha_uar, Sompat Bhlwam Charkhl Dadri, Rohtak
' Pampat Kamal Kurukshetra, Kﬁfthal



73 Given l.)elow are two statements: one is labeled as Assertion A and the other is labeled as Reason R.
Assertion A: When an artificial satellite moves around the earth in a circular orbit with a constant speed, its
velocity 1s n?l constant because the direction of motion of the satellite i« changing continuously.

Reason R: 1 he force of gravity of earth keeps the satellite in circular orbit around it.

In the light of the above statements, choose the correct answer from the options given below:
(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is not the correct explanation of A

4 ). A is true but R is false

A 1s false but R is true

E ~ (E) _Question not attempted

4 ﬁﬁﬁﬂ?ﬁqw%:waﬁaﬂmmA@RWaﬁWmeﬁmw%l
k) HINFYT A: TS IS HOW SqUE gedt & At oM g et & Praa iy & g e & dr 3@ 9 R 7

&IaT R1Tch IUIE B TRT B R TR I @ 2

SUHRT B! Y & § @A §C M T T ferepedt ¥ & w81 307 &1 waw Ao -
(A) AR RIA 97 ¢ iR R, A B G2 = 3

(B) A 3R RIM G & AfhT R, A &7 TeT =@ 78} &

(C) ATIT T dlPTI RIS

(D) AT EdfeI REAT

(E) FAid 9ed

4 - 74  Which of the following statement(s) about the artificial sweetening agents is/are TRUE?
) 1. Ortho-sulphobenzimide is the first popular artificial sweetening agent.
2. Ortho-sulphobenzimide is also called as saccharin. |

e 3.  Ortho-sulphobenzimide is about 100 times as sweet as cane sugar.
Choose the correct answer from the options given below:

(A) 1only (B) 2and 3 only (C) 1and3only (Or 1 and2 only
Question not attempted

(E)
S AYTHI & G<H | MHTARIT § § BN G1/8 6T g 2/87
1.  SU-GeHIENTAISS T Taierd B 9y ¢ |
2. SUI-TERIENTHIES Bl BT Y HEN T |
3.  STUI-HTHISMHIES, T &I I § T 100 AT HieT e &1
i XU e fereedt # | ®E ST g ' -
(A) &aml - (B) %aw 233 (C) Hae 1 3T 3 (D) Haw 132
(B) &gaid 9ed ' - _

Which of the following statements about the types of soaps is/are TRUE?

L. Trlansparent soaps are made by dissolving the soap in ethanol and then evaporating the excess

solvent. e |
2. Shaving soaps contain fillers like sodium rosinate, sodium silicate, borax and sodium carbonate.

_ ‘3. Soap chips are made by running a thin sheet of melted soap onto a cool cylinder and scraping off the
- soaps in small broken pieces.
- Choose the correct answer from the options given below:
~ (A) ,land2only ( 2only (C) 1 and 3 only
~ (BY"~Question not attempfed

- HEA % BT & G4 H e Y HF 9/ BT G 88 7

- 1. Z9a ¥ Wi @ Hiast oit feY erffved fasrad @ it de TRl Jige s e ¥
2. Sifter % wiga § |ifsam Afre, wiftad fiftehe, I ol Wit FEtNe S - g B ¥
R % o b YA % T Taiell e Bl IS Rest v gt iR g & 8ie-sre gwst 3

|
| g
(B) Fad 2 (C) wad 1 30T 3 (D) &aw 2 X 3

<=2 and 3 only

B e T
[peak
gt - = 1

|.-I A

| L
-
u a
-I. [ 5
i

35 | 8l o) 3




76 Match List | with List 1.

LIST I (Process) LIST 11 (Description)
A.  Moulting ¥ Process of extracting silk from cocoons
B. Reeling [I.  Process of removing wool from the

body of an animal
C. Shearing [I1.  Process of washing the raw, sheared
wool to get rid of grease, dirt and dust
D. Scouring V. Process of shedding outer layer

SCIREARSCIRIESRESIR IS .
L ERIERY _ g I (Feraom)

A. IR [. @l & Y9 Frerer &t wfhar
B. W _ 1. Freh sTae % 9T8 & T s @1 whean
C. st 1. W1, e 3 ga d g & & o
D. R V. SEd 9 B Bred Bl Uik
(A) A-lL B-I, CIIL, D-1V 27 A-1V, B-I, C-II, D-III
(C) A-II, B-1, C-1V, D-lI - (D) A-l, B-III, C-1V, D-II

(E) Question not attempted / Cﬂ':lflﬁﬁ RS

v

77  Which of the following statements regarding asexual reproductive structures in Fungi and Simple plants is/

are TRUE? Bk
1. Zoospores are flagellated motile spores produced inside a parent cell called zoosporangia.
2. Conidia are non-motile spores produced singly or in chains by constriction at the tip or laterally on

special hyphal branches called conidiophores.
Gemmules are endogenous bud that are simply a copy of parent nucleus with a small amount of

cytoplasm and a protective covering around.
Choose the correct answer from the options given below:
(A) 1and3 only | 2 and 3 only

ﬂ 1,2and3 (%.30111}/

(E) Question not attempted

Fa% A T el § i Gor Geael & gay ¥ frafatad dael § ¥ B a1/ HUd a 22
. TAEITY] HITHYE Bl & 9 TASTSTIIEM! @ & JURAT S HIieHet T 2|
0. HIEAT ST doY] Bl & Ushd STgaT f U @Hiad Y@ b ®I H FAAT 9 €Y H FLH B

# i.{
|I{.'
¢ :T Y
)
XX

(U8

 HIAEEHIT AHE a9y smEnet # g9d 2 |
3, AR ST el & S e A i B & e oSt 7 § granere swawer § fry wifde
Ze Bl 2|
g fam o el & & "€ 3Oy g
(A) a1 8fiT 3 _ (B) had 2 3 3
(C) 1,283 _ (D) e 3

(E) AT U9

1421 B ' 36 2 P.T.O.




Match the fo
{¢ llowmg su_hums/youms ol Government of Haryana
(1) Khet Khali Phir Bhi Khushali

(1)  Mera Pani Meri Virasa

(a) To make livestock owners risk free

(b) To make farmers free from risk at the

time of a fall in the prices of fruits,

vegetables

To encourage farmers to diversify from

paddy to alternative less water intensive

Crop

(1v)  Pandit Deendayal Upadhayay (d) Farmers get benefit even if the land
Pashudhan Suraksha Yojna where paddy is grown is kept fallow.

anaﬁﬁﬁﬁﬁi@aeﬁﬂ/ﬁwaﬁwﬁmm;

(1)  Bhavantar Bharpai Yojna (C)

() T Ee R o gameh (a) SRR Y it TR AT
(i) ¥ O A R (b) wfesal, well 1 Frar A firaae &
_ 99 fepgml @l SfEd § gad Bl
(iil) HEAR I Do (c) el & o™ & &7 U ATl g P
(iv) Ui SFeaTe Sureary qgpe (d) STET & ST & FBT SHIA ST g8t @
RGN E ar ot fpam=l T @ B
Choose the correct option from the following options :
frferiad fqeedt & ¥ w8 fasmes g -
()@, (iD)-(b), (i), (im)-d) B)  ()-(b), (i)-(0), (iiD)-(d), (v)-(a)
% (1)-(d), (i1)-(c), (iii)-(b), (iv)-(a) a® (1)-(d), (i1)-(a), (ii)-(b), (1v)-(c)

(E) Questlon not attempted / ST TS

Mukhyamantri Muft Ilaj Yojna, in Haryana includes the following services:
g Surgeries, laboratory tests, diagnostic (X-Ray, ECG, ultrasound) only.
. OPD/IPD, Medicines, Referal transport, dental treatment only.
3 OPD/IPD, diagnostics, laboratory tests, surgeries only.
4 Dental treatment, Referral transport, Medicines, OPD/IPD, Surgeries, Laboratory tests, Diagnostics
(X-Ray, ECG, ultrasound) only.
~ Which of the above statements is/are correct?

~ (A) 1only .  @® 2only
= (© 3only e e

“-: - (E) Question not attempted
m o sl qu gt Aol | Freteiad dard it €

1. aw e, AERed SR, SEiiedd (X-Ray, €S, dFEee)

e OPD/IPD, ZaTgal, Thd Ziadre, & fafmr
FHaed OPD/IPD, SRTHIREHT, AaIell 2%, Taidl
e & Tafeear, THTA giEdre, gd1gdl, OPD/IPD, §sil, ﬁa‘ﬁzﬁ%e STaHIREE (X-Ray, T,

G (A3 [CESY
ﬁwﬁr@fﬂw—mwﬂaﬁ%v

2
3
4

(B) &ad 2
(D) e 4

37 . P.T.O.




S0

31

82

National Institute of Fashion Technology (NIFT) is associated with which of the following?

.
34

Project India Size 2. VISION XTI
COEK 4, CHAMPIONS Portal

Which of the options given above are correct?

» Question not attempted

and 2 only (B) 2,

2 and 3 only (C) I|,2and3 only (D) 2,3 and 4 only

VI SINTYT AT B apeieely (NIFT) Prefefaa & & Rraa dafia ¥ ?

. NN U 9w ), e XT
3.  COEK 4,  CHAMPIONS qrda
TE R el f d Y gy ¥ 7

(A) a1 32 (B)  %aw 2 o 3 (C) @ael 1,283 (D) e 2,3 AT 4
(E) {aid 9ed

Pradhan Mantri Jan Aushadhi Yojna (PMJAY) has been renamed as:

1.

¥
4.

Pradhan Mantri Aushadhi Pariyojna 2

: : Pradhan Mantri Janaushadhi Vikas Yojna
Pradhan Mantri Bhartiya Janaushadhi Pariyojana.

Pradhan Mantri Bhartiya Aushadhi Vikas Yojna.

Which of the options given above is correct?

1 only (B) 2only

A=~ 3 only (D) 4 only
(E) Question not attempted

YU H3 919 AT AT (PMIAY) &1 94T 99 ¢

. WEN S SR qiErs 2. wyE HE Sty e arer

3. QUM HAl 9RA SIS GRS 4, WY T HRAE Sfury ferhrd AT
SUUET 5 faaedl § § & 91 [qohey g8 & ? '
(A) wHad | (B) e 2 (C) e 3 - (D) a4

(E) SIIaa e =

Which of the following is/are not trye regarding the Pradhan Mantri Shram Yogi Maan-Dhan Yojana (PM-
SYM) to ensure old age protection for unorganized workers?

1.

2
3.
4

-Each subscriber shall receive minimum assured pension of Rs. 2,000 per month after attaining the
- age of 55 years.

Each subscriber shall receive minimum assured pension of Rs. 3,000 per month after attaining the
age of 60 years. | - | N |
During the receipt of pension, if the subscriber dies, the dependent members of the beneficiary
shall be entitled to receive 50 percent of the pension received by beneficiary, as family pension.
The subscriber’s contribution to PM-SYM is through auto-debit facility from his/her saving bank
account/Jan Dhan Account and it ranges from Rs. 50 to 500 per month depending upon the entry
age of the subscriber. |

.

‘Which of the options given above is/are not correct?

FAaTISd

‘% 1,2and30nlyﬂ 2,3andTonly ~ (Ce1,3and4only: (D)< and 3 only
) .

Question not attémpted

Wﬂﬂﬁm#%ﬂgﬁﬂaﬁﬁ%ﬁﬂﬁumﬁmﬁm—mm%a@aﬁ

frfafEd 5 A HH-91/d g8l 76l

1.
2.
3

4.

FUTTd

Y% G BI 55 TH Dl ER & 918 <gFaq 2,000 ©. i H{E giHivad Yo e
POERCEORIBIECAC] 606@??{%%%&?@%%%%3,0006.srf?rmggﬁﬂaaﬁ'sﬁfnﬁm
N 9T YT O T TEEIATETe 1 afe e &1 Tar & ot ATl & SIS qewl &l, Al &l Hd
& YT 1 50 UieTeTd IiaTies Y9 % w9 H He

el ZT ANTEE @ TS T I Sad @i STl YT W ¥ W@ YUH-TEeR e @i H 9
2t Tl S @rErET % AT ¥ Y97 % WA 8Ty % ATHR X 50 v | 200 S WiHIE 76 @

Hehcll & | . |

el ® & 1 1 ferehed |l 76l € ¢

(A) Faw 1,28k3  (B) FHaw2,334  (O) ¥aa 1,394 (D) FHae | a3

1421 B

(B) ogaRa ved
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Match ¢ | \ oy '
83 (ch column | and column Il & choose the correct option in context of Haryana:

Column | Column 1l
. Khoria (a) tourist complex
2. Manjira D (b) sweet dish
3. Surkhab (¢) dance form
4.  Churma b (d) musical instrument

Choose the correct option :
(A) l-a, 2-b, 3-¢c, 4-d Ml -c, 2-d, 3-a,4-b (C) 1-b,2-c,3-d,4-a (D) I1-d,2-a,3-b,4-c
(E)  Question not attempted

I 1 U HreH 11§ B vl ud 98l faehed &1 s & G934 H 99+ &1

Fq 1 e 11
. @iEn (a) YdIH qILET
2. et (b) firerd
3. gu@HN (c) T &I WL
Tl - (d) g 9=
- WEl TIhed &l gy

(A) 1-a,2-b 3-c,4d (B) 1-,2-d,3a,4b (C) 1-b,2-,3d 4a (D) 1-d,2-a,3-b,4-c

(E) araita gsd

84 Given below is a list of districts along with other district’s touching its boundaries :
1. Jind . Hisar, Kaithal, Panipat , Karnal
2. Rohtak : Jind, Charkhi dadri, Hisar, Rewari
3. Rewari : Mahendergarh, Gurugram, Nuh, Jhajjar
4, Hisar ~ : Bhiwani, Rohtak, Sirsa, Fatehabad

Which of the above is/are correctly matched : R
yomy 1,2and3 (B) Only2,3and4 (C) Only2and4 (D) Onlyland3
(E) Question not attempted
Sy fo el @) g S gat Rt @ del w1 g ¥
. fwe : feER, $Ud, 9HYd, BT
2,  Uedaw  frs, =@, Ted), feaw, e

3, WEl : HERe, TEUM, TE, Fouit
4, fegr e, Oeas, o wAEER

U0 HF 9 A gd g 7
(A) Fa@1,28X3 (B) ®aw2, 334 (C) %aw 2 I 4 (D) %aw | 3T 3

1421 B 39

P 1.0.




85 Agnipath scheme is a recruitment scheme for youth to serve in the armed forces. Which of the following

holds true for “Agniveers”, the youth selected under the scheme ?
|, =="Agniveers will be given an attractive customized monthly package alongwith risk & hardship

allowances as applicable in the three services.

2. On completion of their engagement period of five years, they will be paid one time non contributory
Seva Nidhi Package.

3i Seva Nidht Eackagc 1s exempt from income tax.

4. Agniveers will be provided non contributory Life Insurance Cover of Rs. 24 lakh for their duration

of their engagement period in the Indian Armed Forces.
Which of the statements given above is/are correct? |

o) 1and2only (B) 2and3 only

ﬂ 1 and 3 only (D) 3 and4 only
(E) Question not attempted

HRTIY FISTAT WA T | /1 < & g Tagaet % g o St e &1 e % srwrta Tata 19g9s
“HRTER & WY FERa § 8§ BN QS a9 ¥ 7
I S Bl Al Herstt ¥ @ Rew’ of ‘wfers’ qwi % |1y U Sy qiids T T S
2. 9T 9N FI AN YU BN WX, I% TS qd -gerdd dar Fi G b g At SE

3. a1 iU Uhs SgeRt ¥ ga B
4. SRFERI B ARAE T Wl W Svel g @ arafi & g 5. 24 WG @1 AX-geTardl ST S
HIT {1 ST - .
SUUET YA H § D § HYT Gel & 7 , |
(A) Haa 132 (B) had 2 37T 3
| (C) ad 13X 3 - (D) e 3 3 4
| (E) &gt ued | ol
' Electronic Voting Machine (EVMs) and Voter Verifiable Paper Audit Trail (VVPAT) are being used by the
- Election Commission of India to conduct Elections to the Parliamentary & Assembly Constituencies. Now
consider the following statements : ——
1.  EVMs were first used on pilot basis in Thrissur Assembly Constituency of Kerala.
r 2 EVMs are manufactured by Electronics Corporation of India: Limited and Bharat Electronics
Limited. | '

3.  VVPATs were used first in by-eleétions for Khonsa As_sembly Constituency of Arunachal Pradesh.
4.  VVPAT is an additional unit attached to the EVM, which prints a slip of paper that carries only the
serial number and symbol of the candidate voted.

Which of the statements given above is/arwrue? ot i
" ] and 2 onl | and 4 on
’ge' 1,3 and 4 o};lly _ %, 2and 4 oynly _
Question not attempted '
 WTCdrg gATE ST T qEde ofi frurra ae % g § et @it qai| (EVMs) it are
i YuT siifez Zrae (VVPAT) 1 SuarT femar wirer ® | Frefafee st o fram w2
|, &% A% § YEE G UTIEE HTETT 9T EVM T I9a fmar war an
2, lﬁm?lﬂ T Fazivee ffHes ot Toragiivee SITaree offw s fafres s fea
_ | W el
i _ 3, eITYe WALl % T faumeae gere & & SU-GATe § qEe 9T VY PAT &1 s e T e
4 VVPATUm ot g & o EVM % w1 o g€ e &, Rret firds e far o et @)
£ ¥ . dean 9 yra fuws fife s ¥ |
g A e e A @ -8 e gl T R
(A %@ leMR2 - (B) e 3 af 4
& (C) B 1,34 . (D) % 1,2 3% 4

4

h"

L

I »
A=
am

l" l-_r

4 . -‘-.._:.'-..-—-.l- 1
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) |

- 87 Match List I with List 11.

LIST 1 LIST 11
(Chemical Compounds) (1): mge) |
A. Norcthindrone | (mmmf. detergent
B. Altame [ /\nnfcrtlllty drug
C. Cetvltrimethy lammonium Bromide 1. Artificial Sweetener
D.  Phenclzine V. Anti-depressant drug
(A) AL B-I, C-1V, DA (B)  A-ll, B-I1I, C-I, D=1V
(€)  A-L B-1V, C-I1, D-11I AP AV B-UII, C-I1, D-I
(E)  Question not attempted | LT
gl | & gan | g e s -
Tl LS
(A AR (ITET) |
‘ A. ArdaasH [. YRR SSTIHTS %
B. TUfweH . Wi @wer i
C. UleazpMaBEas-ay SHqEs L M "I
D. WEawA - " V. 31agrg Ul g
(A) A, BLCIV, DI 0 @®) AL B, C-L DAV
(C)  A-l, B-IV, C-II, D-III (D) A-lV, B, C-II, D-I
(E) Sdid ued Y W _ o
i 4B ' )

g~ Whlch of the following statements about the Parasite ls'iare TRUE?
1. Dodder is a plant parasite, which has special suckin

from the host plant. Mﬁ“”f 4 g

Dodder is a vine-like pa[asltlc plam; and IS essentiall,y leaﬂess.t -

Q l 3and4only
(E) Questwn not attempted | (
4 % wed § freffaq A g pM @ we §9A@E?

' R

. ~--~_~=Wmmzwmﬁ%amwmm%mmwﬁm@m

) s e

P j mﬂW%mem@%ﬂjl

N
(B) el 337X 4

(D) 1,2,38kt4

41
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89

- . e i e e e . . & B ——
5 J ¥ - L s e d L]
|

T —— |

90

Match the following:
() Yukti-Yogya Kalakriti ki Takneek

(i) SAKSHAM

(i) Ishan Uday )
(1v) Pragati

Choose the correct option :
(A)  (1)-(a). (i)~(b), (iii)-(c), (iv)-(d)
(E) Question not attempted

ﬁw%f@amﬁma%ﬂq:
() JRA—ArT BATH B Teb-lD

(1) 9&H

(iii) 39TH 34
(iv) Wd
Hﬁﬁﬁﬁqgﬁ'ﬁ:
(A) (1)-(a), (11)-(b), (111)-(c), (iv)-(d)
(C)  (1)-(c), (11)-(d), (111) (b), (iv)-(a)
(E) 3giid 9ed

(a) A scheme of AICTE, aimed at providing
assistance for advancement of girls
participation in technical education.

(b) Aims at skill development and
upgradation of design and technologies
enhancing the economic prospects of
those engaged in traditional crafts and arts
as a means of livelihood.
(¢) Scholarship scheme for differently abled person.
(d) Special scholarship scheme for students
of north-east region

B (i)-(b), (i1)-(c), (iii)-(d), (iv)-(a)
(D) (i)-(d), (ii)-(a), (iii)-(b), (iv)-(<)

(a) T Rreror F wefpal @1 wrierd | g 3
FETId Wa b &g AICTE &I Frer

(b) SaFfElE 3 TUIRTA Hell BT |
S WY @Y anfe STl T GATH g
R i daireh! BT HAAATHI Bl
3yfres ST faeRad ¢ @l I

(c) WW%QW%W

(d) TErR & % B % fog faety BEgha qrer

B)  (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)
(D) (i)-(d), (ii)-(a), (iii)-(b), (iv)-(c)

Match List I with List IT and choose the correct optlon

List 1§, 480
1. Bagar

2. Bet

3. © Nali

4. Khadar

5. Bangar

1-a, 2-b, 3-c, 4-e, 5-d

g 1-a, 2-b, 3-¢,4-d, 5-¢
(0 Question not attempted

List I1 -

Parts of Hisar, Bhiwani and Sirsa
Flood plains of Markanda

Flood plains of Ghaggar

Flood plains of Yamuna

Old alluvial plains

1-b, 2-a, 3-c, 4-d, 5-¢

@ 1-b, 2-d, 3-e, 4-a, 5-c

sp Ao o

Wlwqﬁrllmﬁwqﬁwﬂﬁﬁmwwﬁ

LRl

e, fyam g a6 |
HehUST & §16 & HEM

Y % 916 & "o

qUHAT & NG & HIH

. QUA &8I A
(B) 1-b, 2-a, 3¢, 4-d, 5-¢
(D) 1-b, 2-d, 3-¢, 4-a, 5-c

o oo o
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91  Consider the following statements:

L. Statistics day is celebrated every year on 29t Jyly.

2 National Statistical Commission was set up in 2004,

3. The base year of Consumer Price Index (Rural) is same as that of Consumer Price [ndex (Urban)
1.e. 2012 = 100.

Which of the above statements 1s/are false?
(A) 1and2only

’(_D-)’Q and 3 only

(C) 2only (D) 3 only
(E)  Question not attempted
Frfoies sust 93 R Sifg

. & 99 29 W1 H Fifeaa! @ qma1 oI |
2. USIT FiE®d START @l WY1 2004 § &Y 772 o)
3. AT & & (WY SUHIRT Hod GOdih B AT a9 oy sl &5 % g9 21 2012 = 100 &

IS FUEI S § D9 91/ HYF Tad 28 7
(A) Had 1 32 (B) e 2 37T 3
(C) ad 2 - (D) %Haw 3

Match the following schemes/portal of the Government of Haryana :

92
| (1) Men Fasal, Mera Byora Portal (@) To free farmers from the
| risk of weather uncertainties
- (ii)) Uttam Seed Portal < (b) Canals

(111) Mukhyamantri Bagwani Bima Yojnap (¢) To prevent arbitrariness of seed sellers.
(iv) Real Time Data Acquisition System @ (d) Allow farmers to sell their crops and |
| -~ . provide financial assistance for _
fertilizers, seeds, loans and agricultural
equipment from their homes.

mmmﬁmm@m&mﬁmm

(i) &8 wEd, A0 =@ 9t (a) e T S % wifew
fopami @l g T
(i) T4 9rE ured (b) &Y
 (iii) FEEEE "mTET @ i (c) i frdhemat @Y FeTHY e B ford
(iv) g 21gA 221 e faees (d) feRET @t 3Ta °X | ST HEw! Bl T
& foTq oY Idtas, 9, Fo1 ud Hiy I
| & ford foiia werrar wem &
o f iChoose the correct option from the following options given below :
- Frfafad faeeal & 9 aé fawe gﬁﬁ
- (A)  (D)(a), (ii)-(b), (iii)-(c), (iv)-(d) (B)  (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)

B (D), (iD)-(e), (ifi)-(a), (iV)(b)

(C) (1)-(0), (ii)-(d), (iii)-(a), (iv)-(b)
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f 93  Consider the following statements regarding FASTER: f i

( ]
L« It was laun 0D L |
ched in 2021 hy the Supreme Court. ¢ the judgements/ﬁnal orders/interir

2 I \ivas created for transmission of e-authenticated copies @
orders to the concerned court/tribunals for due compliancg. )

3. Itaimed at cutting the delay in transmission of the orders pf}SC‘ ed by the court and consequent dela,
in the release of the undertrial persons, accused person a id'convicts.

4. It stands for Fast and Safe Transmission of Electronic Redofds.

Which of the options given above is/are incorrect ?

(A) 1 and2only =7 2 and 3 only
( 3 and 4 only @) 1and4 only

(E)  Question not attempted

FIoTRIT &1 9X FASTER % ufdes & Rrem &3

l. 9 99 OEd g 2021 ¥ @i fear w "
2 mﬁ%&smwmemxmmﬁ/mﬁweﬁaﬁzﬁé s LULCI SRR ISR IRE

aﬁa‘rﬁﬁeéfrsﬁrmﬁéﬁﬁ#rﬁjasﬁﬁaﬁl (J
4. UEERE Us VG ZiaMeE oIt geraii et % fig @gFxa ¢
SaThTRad Rl 3 & AT R wd TE E 7 ,
(A) &ad 13T 2 ‘ : (B) %dd 2 37X 3
(C) % 3 AT 4 | (D) %aw 13hT4

AT 9T

94  Consider the following statements:
1. Loan Guarantee Scheme for Covid affected sectors (LGSGAS) with a Corpus of Rs. 2,000 crore

was launched in 2021 for providing credit guarantee coyerage to lending institutes for loans to

Sl

projects under health care sector. 5
2.  The scheme provides credit guarantee of 50 percent to all greenﬁeld projects and 75 percent to all
. brownfield projects to be set up at the centres other than metropolitan cities.
3 For asplratlonal districts, the guarantee cover will be 50 percent for both browntield expansion &
greenfield projects. -
4. For asplratlonal districts the guarantee cover will be 75 percent for both brownfield expansion &
greenfield projects. |
- Which of the statements given above is/are correct?
(A) 1and2only (B) 2 and 3 only
| (C) 3 and4only | | (D) 1 and4 Ogl}}’
| - “(E) Question not attempted o
. Prefufe e o RE st -
. 1. iy gefaa & & R For I IS (LGSCAS) 2021'%2,000 e 599 3 1Y 3 g1y &
W g % T8 UiarsTIen & T FOT & Al HRAE bl RN WA B3 & R 9 &l T o
¥ 2. FE GO AETHE U b STET 3T HAl U WG W T G /) Srenees (dentid)
bk ' qiErstreil & frg 75 whier ofi @t dimwies aREsFTet & e 50 wfrsta @ wfve e e
L Rt (I
B | arrpielr forel & fera, WWWM@W&@W@#M%WWWsOﬁW
At ol f % By .
b B 4. omie fore % fore, FIeAweS R ST Mwies Wﬁ!flﬁ:ﬁiaﬁ M & T Y wat 75 g

wﬂ'ﬁ Bl A | BT q BT e 7 | A
(A) %ad 13T 2 (B) % 2 3IF3
m 3 Gﬂ'{' 4 (D) %aw 1 af e
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95  Read the following statements about Yadavindra Garden Pinjore, Panchkula and choose the correct options:
. It was built by Nawn‘h I'idai Khan in the 15 century.
&\ The garden is an cx:\flmlc of Mughal garden style .
3t [t was renovated by the rulers of princely state of Patiala.
\ (A) Only 1 and?2 N\ (B) Only2and3
(C) Only I and 3 .l (D) Only 2

] 29
(E)  Question not attempted

qrRig= e SR, vagpar & R § = su=t o1 ud ud gt faweat &1 o9+ #1i:
1. 15ﬁuﬁﬁ§émﬁ§aﬁﬁwmu
2. wnﬁ?wmﬁﬂﬁwwwh
3. U IS T o TSTE! AT % &1 YA6EIR fehdT 4T 7|

o)
(A) ad | X 2 Ez’:j (B) hdaw 2 37T 3
(C) Haa 133 ' (D) a2 |
(E) STgaid U .
J1
96  Match the following as per popilhar beliefs : |
' 1. City of five canals b |73 (a) Kaithal
- 2. City named after wife of Neem singhe. (b) Panchkula
ol 1 3 City in Arablc meamngort (¢) Bhiwani
§ _” 4. City named after a place of monk:eys ; (d) Hisar
: - Choose the correct option : ad, |

o (A) l-a, 2-b 3-c 4-d 4BFT 1I-b, 2-c, 3-d, 4-a (C) l-c, 2-d, 3-a,4-b (D) 1-d, 2-a, 3-b, 4
“ f “j B »(E) Question not attempted M *

ﬁﬁﬁfﬁﬂammmeﬁ%s[ fiyeT aifoTa:

X "r y
4 1.[? *41- } '

A LT
I i
"l‘l‘.l _.""l

B

‘WW 1 STET m (a) HUA

"\'*2 e % o % T Y T FT A (b) tag

: 1 3. qWWmWM%W () Tar
4, dEd % W T & ST & (3T Bl T d) frar
Mmm xR

a2 3-% 4-d (B)m-b 2-¢,3-d,4-a (C) 1-¢,2-d,3-a,4-b (D) 1-d, 2-a,3-b, 4
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97 Match the following:

j 1 | id Di tudents.
(') SART HAQ Developed tO'ald Dlvyar]g S '
(1) DIKSHA Eﬁ; Project appraisal budgeting achievement
& Date handling system portal.
(1) PRABANDH (c) students and Teachers Holistic |
| Advancement through quality §d_ucat10n.
(1Iv) TALKING BOOKS (d) e-learning expanded through digital

- frastructure for knowledge sharing.
Choose the correct option :

(A)  (D)-@). (iD-(b), (iii)-(c), (iv)-(d B) (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)
=T (1)-(c), (11)-(d), (iii)~(b), Eavﬁa; §D§ §.-§-(d), (ii)-(a), (iii)-(b), (1v)-(c)
(E)  Question not attempted
(i) uref® (a) et Rrenfét @1 @eradn & ferd Tt
(i) <y | (b) RIS i, FoIE e AT 2T
Fefein fawew dica
(i) 99 (c) ToreraTyel faren & ATeAw @ fqEmiar $i
frerent @1 THI ST
(iv) 2T, §99 (d) st araT & ford Stisted AT d
- T % HTEAH G 3T Bl (9Tt
(A) (i), (iD)-(b), (iii)-(c), (iv)-(d) (B)  ()-(b), (i)-(c), (ii)-(d), (iv)-(a)
(©) (D), (i1)-(d), (iii)-(b), (iv)-(a) (D) ()-(d), (i))-(a), (ii1)-(b), (1v)-(c)
(E) argaita 99+ . . |
98  PM SHRI Schools have the following features: e A
I. - It'is a centrally sponsored scheme under which more than 15000 school will be qualitatively
_ strengthened to include all components of the National Education Policy.
=2, Such schools will be developed as Green Schools incorporating environment friendly aspect.

3 PM SHRI Schools will be developed by strengthening the existing schools from amongst schools
managed by central government only.

4, PM SHRI Schools will be developed by strengthening the existing school from amongst schools

L]

managed by central government/State/U.T. government/local bodies/KVS/NVS.
- Which of the options given above is/are correct? |

(A) 1,2and 3 only (B) .2,3and4 only -

(C) 1,3 and 4 only ' P> 1,2and 4 only
(E) Question not attempted - -
YITH 41 ©pd B Ffafaa fafirean 2:

L

e TS &= rAlfoTd AT & Sraeh q&d Ui favan -ifar & iy st @ s 5 3 Rl 15000
| st Wpell Bl TOTHS ©Y § AT {opar ST & |

4

b sﬂqﬁﬁdﬁwgﬁﬁmﬁmﬁmmwﬂmhﬁmwﬁaﬁﬁwﬁmm@ﬁaﬁsﬁﬁ
3. %l BE GBI G FEfd AT Thel § § PO BN A0Gd Sk NOH S ®pit 7 fyepre fpar ST
HATT FHTYTY /%7 M TR FIHTRATY b/ Hefes/ ey anr waiftre e el & @

. B % quigd B YIeq A Gl w1 famre fohar s
 IuqiE R T Rt & @ @ A e wé ¥ 7
R D¢ (D) &9 1,2 304

B S R I R B
: el o Rt
L T i ™ W e




99  Which of the following s Ith refar VIR |
hich of the following statements with reference to uniform linear motion and uniform circular motion 1s/

are TRUE?

l In a uniform lincar motion, a lm(ly moves in the same direction with a constant spcul but in uniform
circular motion, the speed of the body remains constant and the direction of the motion changes
continuously.

2. Inauniform linear motion, there is instantaneous change in velocity but in uniform circular motion.
the velocity remains the same. .

3 A uniform linear motion is an accelerated motion but a uniform circular motion is not an accelerated
motion.

Choose the correct answer from the options given below: |
(A) 2and3 only (B) 3 only

(C) 1only _ (D)—1 and 3 only

(E)  Question not attempted
THEq thas TR oR ThEHM gig e & "ad ® frefafed 4 | &9 G@/" 97 T
B/8?
| umEa YRaew TR § ue fifs Rert o % qrer ua € R & wwen & afeT waH g i 7 6 @
aTet RUT (& & Wi T B faem Fa gl @l |
> uepEe YRaw T AT F b UREdT BT & A ThHEH g i § 9 FHA B
3. THEHH IRaH TR T G T & Wb ThEH g i @iid i Tl ©

- 9w o faeedl ® 9 98 3O gifu: &
(A) had 2 3T 3 5 (B) ad 3
(C) ®aal - - (D) e 1 33

100 Which of the following statement(s) about the freely falling objects is/are FALSEY
1. Freely falling objects are the objects falling from a height towards the earth under gravitational

force of the earth.
2. The acceleration of a body falling freely towards the earth depends on the mass of the body.

3. Ifan object is dropped freely from a height, its initial velocity ‘u’ is zero and if an object is thrown

vertically upwards, its final velocity ‘v’ becomes zero.
Choose the correct answer from the options given below:

_(Ay—Tand 3 only (B) 2 only .
(C) 3only (D) 2 and 3 only

(E) Question not attempted

@i B & e areh aegail & A A Frefilad § § B /Y HUT S ¥/ 7
| s B @ Pt AT g ged % ey 96 & ded Harg § JeAl d S Fre @t w1 €
). s w9 @ geE @ ot A A fire e e s & s at F e §
i3 uﬁwa@aﬁwﬁﬂw%%ﬂéﬁﬁmw%aﬁmmaﬂwsfu%ﬁm%aﬂwﬁéﬁmtﬁ

'mﬂﬁawfmwaﬁaﬁTWW%ﬁmaﬁqéﬂ'*v’SElﬁw%l

A1 i o el & | @€ wTT giT .

(A) aa | ot 3 ~ (B) %aw 2

a2 (C) e 3 (D) e 2 3T 3
- (B)  orgaRd wed -
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